#### THREE VILLAGE CENTRAL SCHOOL DISTRICT OF **BROOKHAVEN AND SMITHTOWN**

#### MEETING OF THE BOARD OF EDUCATION SEPTEMBER 9, 2015

Meeting of the Board of Education of the Three Village Central School District of Brookhaven and Smithtown held at the North Country Administration Center, 100 Suffolk Avenue, Stony Brook, New York 11790 on September 9, 2015 at 5:30 p.m.

William F. Connors Jr., President Members present:

> Irene Gische, Vice President Deanna Bavlnka, Trustee

Inger Germano, Trustee (as of 6:25)

Jeffrey Kerman, Trustee

Jonathan Kornreich, Trustee (as of 5:45) Susanne A. Mendelson, Trustee (as of 6:05)

Members absent: All were present

Cheryl Pedisich, Superintendent Also present:

Jeffrey Carlson, Assistant Superintendent for Business Services Kevin Scanlon, Assistant Superintendent for Educational Services Gary Dabrusky, Assistant Superintendent for Human Resources

Kathleen Sampogna, District Clerk

Joseph Hines, Student Representative to the Board

Visitors

CALL TO **ORDER** 

Mr. Connors called the meeting to order at 5:33 p.m.

MOVE INTO **EXECUTIVE** SESSION

On motion by Mrs. Gische, seconded by Ms. Bavlnka, and carried by a 4-0-0 vote, the Board moved immediately into Executive Session in accordance with Open Meeting Law to discuss collective negotiations pursuant to Article 14 of the Civil Service Law and the employment history of a particular person(s).

**RECONVENE** INTO PUBLIC **SESSION** 

The meeting reconvened into open session at 7:35 p.m. Mrs. Pedisich led the pledge of allegiance.

**CHANGES IN** THE MEETING **AGENDA** 

Replacement Pages:

- Item AA Resolution Abolishing Positions and Terminating Employees Having Least Seniority
- Item BB1 Instructional Personnel Schedules A.6 and A.9
- Item W Approval of Agreement With Employee for Leave of Absence Without

**STAFF** 

RECOGNITION

The Maintenance and Operations and Custodial staff members were recognized for their efforts after the severe storm in August and during the construction work that took place in the buildings during the summer.

**PUBLIC** 

**PARTICIPATION** 

Thomas Sheedy spoke regarding clubs.

MINUTES AND **BIDS** 

Minutes of June 17, June 24, July 7 and August 11, 2015

Be it RESOLVED that the Board of Education accept the minutes of its June 17, June 24, July 7 and August 11, 2015 meetings.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 5-0-2 vote with Ms. Mendelson and Dr. Kerman abstaining, the Board approved the resolution as presented.

Bids Bid Extension -Child Nutrition Uniforms - Bid #2322

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education award an extension period of one year to the current successful vendor for the above bid.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

#### REPORTS

Student Representative Report Joseph Hines reported on the opening of school and upcoming student events.

ITEMS FOR BOARD DISCUSSION

Board Goals The Board discussed revising the existing Board Goals for the 2015-2016 school year.

ITEMS FOR BOARD ACTION

Policy Be it RESOLVED that the Board of Education accept the following Policy delineated

below:

Policy #5280 – Interscholastic

Policy # Policy Title

Athletics 5280 Interscholastic Athletics

On motion by Dr. Kerman, seconded by Ms. Mendelson, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of Election Workers for the September 16, 2015 Annual Emma S. Clark Memorial Library Budget Vote Be it RESOLVED that the Board of Education hereby approves the appointment of the following individuals to serve as Board of Registration and Election Inspectors for matters related to conducting the Annual Emma S. Clark Memorial Library Vote scheduled on September 16, 2015:

Chief Election Inspectors/Election Inspectors/Board of Registration - \$12.00 per hour:

#### Kathleen Kerr

#### Election Inspectors/Assistant Clerks - \$10.00 per hour

Paul DiBenedetto Barbara Lynch Lisa Brellis Agnes Maggiacomo Agatha Meadows

On motion by Mrs. Gische, seconded by Ms. Mendelson, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

NYSSBA Appointment of Voting Delegates Be it RESOLVED that the Board of Education discuss the selection of the Board designees as Voting Delegate and Alternate Voting Delegate at the Annual NYSSBA Business Meeting on October 20, 2015.

Dr. Kerman nominated Ms. Mendelson as the Voting Delegate and Mrs. Gische as the Alternate Voting Delegate. Ms. Bavlnka seconded the nomination.

On motion by Dr. Kerman, seconded by Ms. Bavlnka, and carried by a 7-0-0 vote, the Board approved Ms. Mendelson as the Voting Delegate and Mrs. Gische as the Alternate Voting Delegate.

Revision to Board of Education Meeting Schedule 2015-2016 Be it RESOLVED that the Board of education approve the revised list titled "Three Village Central School District Board of Education Meeting and Budget Meetings 2015-2016 School Year".

DATE	DAY	<u>PURPOSE</u>	LOCATION
July 7, 2015	Tuesday*	Board of Education Organizational Meeting	NC Admin
August 26, 2015	Wednesday	Board of Education Meeting	NC Admin
September 9, 2015	Wednesday	Board of Education Meeting	NC Admin
September 16, 2015	Wednesday	Emma S. Clark Library Budget Vote	Emma S. Clark Library
September 30, 2015	Wednesday	Board of Education Meeting	NC Admin
October 14, 2015	Wednesday	Board of Education Meeting	NC Admin
October 28, 2015	Wednesday	Board of Education Meeting	NC Admin
November 18, 2015	Wednesday	Board of Education Meeting	NC Admin

N 1 25	337 1 1	TEL 1 ' ' D	
November 25-	Wednesday-	Thanksgiving Recess	
27, 2015	Friday		
December 9, 2015	Wednesday	Board of Education Meeting	NC Admin
December 24 2015- January 1, 2016	Thursday - Friday	Winter Recess	
January 13, 2016	Wednesday	Board of Education Meeting	NC Admin
January 27, 2016	Wednesday	Board of Education Meeting	NC Admin
February 10, 2016	Wednesday	Board of Education Meeting	NC Admin
February 15–19, 2016	Monday – Friday	Mid-Winter Recess	
March 2, 2015	Wednesday	Board of Education Meeting/Review of Preliminary Financial Plan/Budget	NC Admin
March 9, 2016	Wednesday	Board of Education Meeting/Review of Preliminary Financial Plan/Budget	NC Admin
March 18, 2016	Friday	Last Day to file Petitions for presentation on the Ballot for May 17Annual Vote	NC Admin
March 30, 2016	Wednesday	Board of Education Meeting/Review of Preliminary Financial Plan/Budget	NC Admin
April 6, 2016	Wednesday	ESBOCES Annual Meeting	James Hines Admin Center
April 13, 2016	Wednesday	Board of Education Meeting/Budget Review and Adoption of Budget and ESBOCES Administrative Budget Vote and Board Election	NC Admin
April 18, 2016	Monday	Last day to file petitions for Board Election and District Propositions	
April 20, 2016	Wednesday	Board of Education Meeting	NC Admin
April 27, 2016	Wednesday	Deadline for Budget to be available for public inspection	All District Buildings/Website
April 25 – April 29, 2016	Monday – Friday	Spring Recess	
May 2, 2016	Monday	PTA Meet the Candidates Night	WMHS
May 4, 2016	Wednesday	Voter Registration Day with Board of Registry	WMHS
May 4, 2016	Wednesday	Board of Education Meeting/Public Hearing (presentation only)	RC Murphy
May 11, 2016 (deadline)	Wednesday	Adopted Financial Plan/Budget Six Day Notice mailed to residents	
May 17, 2016	Tuesday*	Annual Meeting (Budget Vote and Board Election/ Certification of Vote and Election)	Elementary School Buildings and NC Admin
June 8, 2016	Wednesday	Board of Education Meeting	NC Admin
June 21, 2016	Tuesday*	Revote day (if necessary)	Elementary School Buildings and NC Admin
June 22, 2016	Wednesday**	Board of Education Meeting	NC Admin
June 24, 2016	Friday	Last Day of School	
July 5, 2016	Tuesday*	Board of Education Organizational Meeting	NC Admin
	Wednesday	Board of Education Meeting	NC Admin

<sup>\*</sup>Date mandated by New York State Education Law

On motion by Ms. Germano, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Establish Standard Work Day for Employees' Retirement System Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education hereby establishes seven (7) hours per day as its standard work day for New York State and Local Employees' Retirement System reporting.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Consent to Assignment of Equipment Lease Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the attached "Notice of and Consent to Assignment" between Capital One Public Funding, LLC, as Assignor, and Sterling National Bank, as Assignee and that the President of the Board of Education be authorized to execute same.

On motion by Dr. Kerman, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Authorize Participation in Cooperative Bids with National Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education authorize participation in cooperative bids with the National Joint Power Alliance for the purchase of services and commodities for the 2015-2016 school year at no cost to the district.

<sup>\*\*</sup> Date will be changed to Tuesday, June 21, 2016 if revote is needed.

Joint Power Alliance

On motion by Mrs. Gische, seconded by Ms. Mendelson, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Contracts with Outside Service Providers for Special Educational Services Upon recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the Consultant Services Contracts for special educational services for the 2015-2016 school year with the following providers:

- Island Tutoring Center
- Islip Tutoring Service
- Long Island Home Tutors
- Christian Nursing Registry, Inc.
- Interim Healthcare of Greater New York
- Maxim Healthcare Services Inc.
- South Country CSD

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Special Education Tuition Contracts Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the contracts for instruction/services to be provided by the schools listed below to the Three Village Central School District students for the 2015-2016 school year.

- Harmony Heights
- NYSARC, Inc., Suffolk Chapter
- Henry Viscardi School
- Little Flower UFSD
- Port Jefferson UFSD (2014-2015)

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Late Transportation Requests to Private/Parochial Schools Upon the recommendation of the Superintendent of Schools be it RESOLVED that the late requests for transportation to the private/parochial schools listed below be approved:

School	<u>Grade</u>
Harbor Country Day School	01-16
Harbor Country Day School	02-16
Laurel Hill School	03-16
Laurel Hill School	04-16
Laurel Hill School	05-16
Laurel Hill School	06-16
Knox School	07-16
Knox School	08-16
Maimonides	09-16
North Shore Montessori	10-16
North Shore Montessori	11-16
North Shore Montessori	12-16
Our Savior New America	13-16
Smithtown Christian School	14-16
Smithtown Christian School	15-16
Stony Brook School	16-16
Stony Brook School	17-16
Stony Brook School	18-16
Stony Brook School	19-16
Stony Brook School	20-16
Stony Brook School	21-16
Stony Brook School	22-16
Sts. Philip & James School	23-16
Sts. Philip & James School	24-16
Sts. Philip & James School	25-16

On motion by Ms. Germano, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Acceptance of Donations

Upon the Recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education accept with gratitude the following:

- A check in the amount of \$2,846.65 from the Nassakeag School PTA donated to Nassakeag Elementary School for the purchase of color ink for all teachers.
- A check in the amount of \$2,044.00 from Lifetouch National School Studios donated to Ward Melville HS to fund the cost of the Co-Advisor for the Yearbook.

- A check in the amount of \$50.00 from Theodore and Joyce Hilgeman donated to the Jody Eff Memorial Scholarship Fund.
- A check in the amount of \$4,987.16 from Three Village SEPTA donated to various district schools as mini-grants to fund certain projects, as stipulated.
- A check in the amount of \$250.00 from the Long Island Arts Alliance, Inc. donated to the district to be used by Ms. Courtney Weisman, a Ward Melville HS Art Teacher, for professional development, materials and supplies relating to the courses she teaches.
- A slightly used Sohmer and Company Maplewood Upright Piano with bench donated by Mr. Leif Rubinstein to the Ward Melville HS Music Department.
- Brand new lighting equipment from Mr. Larry Lieberman of Vision Quest Lighting donated to Ward Melville HS, as follows:
  - 30 par 64 Coronas
  - 50 floor cyc
  - 3 Triple floor cyc
  - 31 various spot style lights

On motion by Ms. Germano, seconded by Dr. Kerman, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Declaration of Surplus Equipment Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the items listed below be declared surplus and disposed of in the best interest of the Three Village Central School District.

Item Description	Model	Serial #	Three Village #	Conditio n	Location
Fellows Shredder	C225Ci	N/A	2009144 1	Poor	RCM Main Office
Denalt Chop Saw	DW708	35987	N/A	Poor	WMHS Auto Shop
Craftsman Lathe	46-715	014848 3032	N/A	Poor	WMHS Auto Shop
Bass (String)	90P (1974) Thoma	15743	N/A	Poor	Arrowhead
Cello (String)	N/A	N/A	113	Poor	Arrowhead
***Various IT Equipment as per listing available in the Business Office***					

On motion by Ms. Germano, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Renewal of Contract with Security Voice, Inc. for Safe School Helpline Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve renewal of participation in the Safe School Helpline program for the 2015-2016 school year at a fee not to exceed \$3,600.

On motion by Mrs. Gische, seconded by Ms. Mendelson, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Software Agreement with N. Harris Computer Corporation Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve agreements for the acquisition and implementation of software to be used by the district (contracts are on file in the office of the Assistant Superintendent for Business Services).

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Agreement with UPSEU Three Village Maintenance & Operations Unit Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the attached 'Side Letter of Agreement' as part of the current contract between the Board of Education of the Three Village Central School District and UPSEU (Three Village Maintenance and Operations Unit) and authorize the Superintendent of Schools to execute same.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Selection Classification – Fall Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the following junior high school students' participation on the high school varsity teams as indicated:

Jade Eggleston	Grade 8	Gelinas	Girls Tennis	Varsity
Elizabeth Radke	Grade 8	Gelinas	Cross Country	Varsity
Palmer VanTyle	Grade 8	Gelinas	Golf	Varsity

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Revised Appointment of Committees on Special Education – 2015-2016 Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education approve the appointment of the revised Committees on Special Education for the 2015-2016 school year.

Revised Approval of Impartial Hearing Officers –

2015-2016

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education adopt the revised roster of eligible hearing officers to conduct special education impartial hearings for the 2015-2016 school year.

The following IHOs have been deleted from the District's rotational list:

Beryl Blaustone Lorraine Ferrigno Susan Richmond

# REVISED - IHO ROTATIONAL LIST 2015/2016

<u>Last Name</u>	First Name
Heidelberger	Jonathan
Itzla	Amy
Joyner	Theresa
Kandilakis	George
Keefe	Jeanne
Kehoe	Martin
Kershen	Harry
Kestenbaum	Elise
Lassinger	Dora
Lazan	Michael
Lederman	Nancy
Lushing	Susan
Mckeever	James
Millman	Tina
Monk	James
Moore	Christine
Murphy	Leah
Naun	John
Nisely	Robert
Noe	Mary
Odom	Veronica
Peters	Gary
Peters	Kenneth
Reichel	Heidi
Ritzenberg	Kenneth
Roberts	George
Rosen	Paul
Roth	Roslyn
Schad	Jerome

Schiff	Martin
Schiro	Jeffrey
Schneider	Judith
Silver	Marjorie
Tessler	Craig
Venezia	Arthur
Walsh	James
Walsh	Marion
Wanderman	Carl
Washington	Denise
Weiner	Marc
Wolman	Mindy
Ziev	Joel
Albert	Peter
Almeleh	Lynn
Barbour	Susan
Bauchner	Stuart
Brandenburg	Wendy
Brandow	Regina
Briglio	Robert
Bumbalo	Paul
Cohen	Diane
Cutler-Igoe	Ellen
Dewan	Debra
Ebenstein	Barbara
Farago	John
Feinberg	Rona
Finkelstein	Sharyn
Flame	Lana
Haken	Steve

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Approval of Agreement With Employee for Leave of Absence Without Pay Be it RESOLVED that the Board of Education hereby approves the agreement between the District and the employee named in Confidential Schedule "A" and authorizes the Superintendent of Schools and the Board President to execute same, and it is further,

RESOLVED that the Board of Education hereby grants the employee named on Confidential Schedule "A" a leave of absence without pay pursuant to the terms of the agreement between the District and such employee.

On motion by Dr. Kerman, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Appointment of School Physicians

Upon the recommendation of the Superintendent of Schools, be it RESOLVED that the Board of Education approve the below list of school physicians effective July 1, 2015 – June 30, 2016.

- Brian Cruikshank, MD
- James Paci, MD
- James Penna, MD
- Angelo Rizzi, RPA-C

On motion by Mr. Kornreich, seconded by Ms. Mendelson, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

UPSEU Extended School Year Arbitration Settlement Agreement RESOLVED, the Board of Education hereby approves the Settlement Agreement with the Three Village Aides and Monitors Unit resolving a grievance relative to arbitration Case #13-20-1300-2280 and authorizes the Superintendent and Board President to execute same.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Resolution Approving Conditional Appointments

RESOLVED, upon the recommendation of the Superintendent of Schools, the Board of Education hereby ratifies the following appointments made by the Superintendent of Schools from the date of such appointments to the present:

Employee Name	Date of Conditional Appointment	<u>Title</u>
Driscoll, Christina	8/31/15	Teacher
Cappiello, Lisa	8/31/15	Teacher (Part-time)
DiBernardo, Tara	8/31/15	Teacher (Part-time)
Hein, James	8/31/15	Teacher (Leave Replacement)
Hill, Jeanne	8/31/15	Teacher (Part-time)
Muscarella, Christopher	8/31/15	Teacher (Leave Replacement)
Raspler, Laurie	8/31/15	Teacher (Part-time)
Reickhoff, Daniel	8/31/15	Teacher (Part-time)
Savage, Harry	8/31/15	Teacher (Leave Replacement)
Serigano, Jennifer	8/31/15	Teacher (Part-time)
Ullah, Nicole	9/1/15	Teaching Assistant
T. T.11.	0/01/15	(Leave Replacement)
Visser, Jillian	8/31/15	Teacher (Leave Replacement)
Chapman, Craig	8/31/15	Teacher
DiFede, Christine	8/31/15	Teacher
Heal, Jessica Levenson, Melissa	8/31/15 8/31/15	Teacher Teacher
Meier, Brendan	8/31/15	Teacher
Muzzonigro, Michele	8/31/15	Teacher
Cortes, Melissa	8/31/15	Teaching Assistant
Kahnis, Erin	8/31/15	Teaching Assistant Teaching Assistant
Lorenzen, Jennifer	8/31/15	Teaching Assistant Teaching Assistant
Ahmendani, Annela	8/6/15-8/30/15	Substitute Nurse
Ahmendani Annela	8/31/15	Nurse
Smith, Jeanette	8/31/15	Nurse
Buys, Megan	8/31/15	Substitute Teacher
Nash, Katherine	8/31/15	Substitute Teacher
Renna, Danielle	9/2/15	Substitute Teacher
Schryver, Alison	8/31/15	Substitute Teacher
Sheerin, Bridget	8/31/15	Substitute Teacher
Fondacaro, Renee	9/1/15	Substitute Nurse
Puleo, Michelle	8/20/15	Substitute Nurse
Williams, Louise	8/24/15	Coach
Cortes, Melissa	9/8/15	Coach
Muscarella, Christopher	8/17/15	Coach
Butler, Shaylyn	8/24/15	Coach
Byrne, Elizabeth	8/24/15	Coach
Caggiano, Lauren	8/24/15	Coach
Cantwell, Greggory	8/24/15	Coach
Madsen, Dennis	8/24/15	Coach
Vetro, Rocco	8/24/15	Coach Director of Facilities III
O'Hagan, James	8/24/15	Director of Facilities III
Carrero, Nancy Carrero, Nancy	8/20/15-8/24/15	Substitute Clerk Typist
Koyles, Luann	8/25/15 8/27/15	<ul><li>10.5 month Clerk Typist</li><li>12 month Senior Clerk Typist</li></ul>
Ninia, Evelyn	8/27/15	Part-time Clerk Typist
Aiello, Regina	8/31/15	Special Education Aide
Cash, Louise	8/31/15	Special Education Aide
Fontana-Daguerre, Romi	8/31/15	Monitor
Forte, Anne	9/3/15	Special Education Aide
Randazzo, Donna	8/31/15	Special Education Aide
Romeo, Stacey	8/31/15	Special Education Aide
Schneider, Jennifer	8/31/15	Monitor
Squatrito, Jessica	8/31/15	Special Education Aide
Helenek, Lynda	9/3/15	Child Care Assistant
Iannotto, James	8/27/15	Chaperone
Alexander, Dawn	8/17/15-8/18/15	ESY Teacher
DeLorenzo, Heather	8/17/15-8/18/15	ESY Teacher
Florio, Christina	8/17/15-8/18/15	ESY Teacher
McCaffrey, Virginia	8/17/15-8/18/18	ESY Teacher
Murolo, Nancy	8/17/15-8/18/15	ESY Teacher
Vecchio, Jennifer	8/17/15-8/18/15	ESY Teacher
Zeidman, Stacey	8/17/15-8/18/15	ESY Teacher
Bell, Robert	7/6/15	Security Guard, Summer Recreation
Keefe, Cornelius	7/6/15	Security Guard, Summer Recreation
Keough, Terry	7/6/15	Security Guard, Summer Recreation

Meoni, John	7/6/15	Security Guard, Summer Recreation
Natale, Louis	7/6/15	Security Guard, Summer Recreation
Paglia, Paul	7/6/15	Security Guard, Summer Recreation
Perez, Tito	7/6/15	Security Guard, Summer Recreation
Stewart, Wanda	7/6/15	Security Guard, Summer Recreation
Barra, Susan	7/6/15	Nurse, ESY Program
Patterson, Debbie	7/28/15	Bus Monitor, Substitute
Stursberg, Cathleen	7/28/15	Bus Monitor, Substitute
Carpenzano, Margherita	9/3/15	Substitute Special Education Aide

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented

Resolution Abolishing Positions and Terminating Employees Having Least Seniority Be it RESOLVED, the employment of the employees having the least seniority in the District, shall be discontinued, effective July 1, 2015. The following employees are hereby excessed:

Name Job Title
Driscoll, Christina Health Teacher
No reduction/excessing

Ms. Driscoll was previously excessed from her Health teacher position at the meeting of June 30, 2014.

Alberici, Joann Teaching Assistant
No reduction/excessing

Ms. Alberici was previously excessed from her Teaching Assistant position at the meeting of July 7, 2015.

On motion by Dr. Kerman, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented

#### Personnel Matters

Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the instructional personnel items as described in the schedules listed below:

#### **RETIREMENT**

<u>Name</u>	School/Assignment	Effective Date	Date of Hire
Barbara Mintz	Ward Melville/	08/01/15	10/17/86
	Paraprofessional		

# RESIGNATIONS

<u>Name</u>	School/Assignment	Effective Date	Date of Hire
DeSciscio, Letitia	Arrowhead/Nurse	8/30/15	9/1/09
Femminella, Thomas	Murphy/Teaching	7/7/15	12/12/13
	Assistant		

This is a correction to Mr. Femminella's resignation effective date. Mr. Femminella's resignation was previously approved with an effective date of June 30, 2015 at the Board of Education meeting held on July 7, 2015.

Giordano, Christina	Minnesauke/	8/14/15	9/1/14
	Teaching Assistant		
Horn, Melissa	Laurel Hill	8/24/15	11/14/12
	School/Special Ed		
	Teacher		
Kahnis, Erin	Gelinas/Teaching	9/4/15	9/14/11
	Assistant		
Levenson, Melissa	Gelinas/Teaching	8/10/15	11/14/12
	Assistant		
Maurer, Alan	Gelinas/Teaching	8/12/15	5/23/12
	Assistant		
Nilsson, Marylou	Murphy/Teaching	8/19/15	2/12/03
·	Assistant		
Renna, Danielle	Gelinas/Teaching	8/28/15	7/1/14
	Assistant		
Ullah, Nicole	Gelinas/Leave	9/14/15	11/5/14
	Replacement		
	Teaching Assistant		
	_		

#### RESCISSION OF APPOINTMENT

NameSchool/AssignmentEffective DateLinda ContinoHigh School Music Lead2015-2016

Ms. Contino was board approved on 6/17/2015 as the High School Music Lead. Mr. Anthony Pollera is being board approved on 9/9/2015 as the Transitional District Music Lead, so we are rescinding Ms. Contino's appointment.

#### LEAVES OF ABSENCE

<u>Name</u>	School/Assignment	<b>Effective</b>	Reason	<b>Tenured</b>
Carpenzano,	Arrowhead/Teaching	9/1/15 -	Unpaid	Yes
Margherita	Assistant	9/30/15		
Goodstein,	Gelinas/Teaching	10/5/15 -	Unpaid	Yes
Ashley	Assistant	6/30/16		

# APPOINTMENT TO ADMINISTRATOR POSITIONS

Flaumenhaft, Danielle Assistant Principal

SUNY Cortland- BS Dowling College - MS

SUNY Stony Brook - SBL, SDL

Previous Tenure - Yes

Related to current employee - No

Salary: \$116,000 Effective: 7/1/15

This is a continuing probationary appointment with tenure due 7/1/17. Due to the abolishment of the Assistant to the Principal position, Ms. Flaumenhaft will now continue as Assistant Principal. Ms. Flaumenhaft is assigned to Setauket Elementary School. Fingerprint clearance is on file.

(This recommendation is to correct the effective date to 7/1/15 from the incorrect date of 7/1/14 stated on the 7/7/15 Schedule A5.)

# APPOINTMENTS TO INSTRUCTIONAL POSITIONS

This schedule supersedes the July 7, 2015, Schedule A6 Recalled Teachers/Teaching Assistants:

Alberici, Joann Teaching Assistant

St. Joseph's College - BA LIU Brentwood - MS Previous Tenure - No

Related to current employee - No Salary Step/Level - \$27,521, 1/3

Effective - 7/1/15

This is a continuing probationary appointment. This appointment is due to the resignation of Alan Maurer. Ms. Alberici was previously excessed at the Board of Education meeting held on July 7, 2015 and is now being recalled. Ms. Alberici will be assigned to Paul J. Gelinas Junior High School for the 2015-2016 school year. Fingerprint clearance for employment is on file.

Angermaier, Derek Technology Teacher

SUNY Oswego –BS SUNY Stony Brook – MA Previous Tenure – Yes Salary: Step/Level – 12/MA+60

Effective - 8/31/15

This is a continuing probationary appointment. This appointment is due to increased staffing. Mr. Angermaier's probationary appointment was excessed down to .7 at the meeting of August 27, 2014. Mr. Angermaier will be assigned to Murphy Junior High School. Fingerprint clearance is on file.

Chesney-Gold, Alyssa One-year, Part-time Business Teacher

SUNY Stony Brook – BS Dowling College – MS Previous Tenure – Yes

Salary: Step/Level 14/MA+60: \$113,052x .4=

\$45,220.80 Effective - 8/31/15

This is a one-year, part-time appointment effective 8/31/15-6/30/16. This is a continuing appointment. Ms. Chesney-Gold was a .4 business teacher for 2014-2015, having been

excessed on June 25, 2013 and .5 on June 18, 2014. Ms. Chesney-Gold will be assigned to Ward Melville High School. Fingerprint clearance for employment is on file.

Chiappino, Darlene Guidance Counselor

St. Joseph's College – BA LIU, C.W. Post – MS Previous Tenure – Yes

Related to current employee - No Salary: Step/ Level – 6/MA+60 Effective - 8/31/15

This is a continuing 1.0 appointment. This appointment is due to the retirement of Steven Levenson. Ms. Chiappino was excessed from her Guidance Counselor position at the Board of Education meeting held on June 25, 2013 and is being recalled at the Board of Education meeting on July 7, 2015. Ms. Chiappino will be assigned to Ward Melville High School for the 2015-16 school year. Fingerprint clearance for employment is on file.

Cimini, Michelle Elementary Teacher

Syracuse University - BS Pace University –MS Previous Tenure - Yes

Related to current employee - No Salary: Step/Level – 10/MA+60

Effective - 8/31/15

This is a continuing 1.0 appointment. This appointment is due to the retirement of Rosemary Ullrich. Ms. Cimini was excessed from her elementary teaching position at the Board of Education meeting held on June 25, 2013 and is being recalled at the Board of Education meeting on July 7, 2015. Ms. Cimini will be assigned to Setauket Elementary School for the 2015-16 school year. Fingerprint clearance for employment is on file.

Diana, Kerry Health Teacher

Binghamton University - BS SUNY Oneonta - BS Hofstra University – MS
Previous Tenure – Yes
Related to current employee – No

Salary: Step/Level- 9/MÅ+60 Effective – 8/31/15

This is a continuing 1.0 appointment, effective 8/31/15. This appointment is due to increased staffing. Ms. Diana was excessed from her Health position at the Board of Education meeting of June 25, 2013. Ms. Diana will be assigned to Nassakeag (.4) / Ward Melville High School (.6) for 2015-2016. Fingerprint clearance for employment is on file.

Driscoll, Christina Health Teacher

James Madison University - BA Hofstra University - MS Previous Tenure - Yes

Related to current employee - No Salary Step/Level - 8/MA+60

Effective - 8/31/15

This is a continuing 1.0 appointment, effective 8/31/15. This appointment is due the reassignment of Craig Chapman. Ms. Driscoll was excessed from her Health position effective June 30, 2012 and is being recalled at the Board of Education meeting on August 26, 2015. Ms. Driscoll will be assigned to Ward Melville High School (.8) / Gelinas JHS (.2) for the 2015-2016 school year. Fingerprint clearance for employment is on file.

Fischer, Andrea Math Teacher

Stony Brook University – BS Stony Brook University – MA

Previous Tenure – No

Related to current employee - No Salary: Step/Level – 3/MA

Effective -8/31/15

This is a continuing probationary 1.0 appointment with tenure due on 8/31/16. This appointment is due to an increase in staffing. Ms. Fischer will be assigned to the Alternate High School and Ward Melville High School. Ms. Fischer was excessed at her Math teaching position at the Board of Education meeting held on June 25, 2013 and is being recalled at the Board of Education meeting on July 7, 2015. Fingerprint clearance is on file.

Herrmann, Lorin Elementary Teacher

University of Delaware -BA Dowling College – MS Previous Tenure – Yes

Related to current employee - No Salary: Step/Level – 9/MA+60 Effective – 8/31/15

This is a continuing 1.0 appointment. This appointment is due to increased staffing. Ms. Herrmann was excessed from her elementary teaching position at the Board of Education meeting held on June 25, 2013 and is being recalled at the Board of Education meeting on July 7, 2015. Ms. Herrmann will be assigned to Arrowhead Elementary School for the 2015-16 school year. Fingerprint clearance for employment is on file.

Howard, Cynthia Health Teacher

Adelphi University - BS SUNY Stony Brook - MS Previous Tenure - Yes

Related to current employee - No Salary Step/Level - 12/MA+30

Effective - 8/31/15

This is a continuing 1.0 appointment. This appointment is due the increase in staffing. Ms. Howard will be assigned .4 Arrowhead Elementary School/.4 Mount Elementary School/.1 Gelinas/.1 Travel for the 2015-2016 school year. Fingerprint clearance for employment is on file.

Kiriluk, Deborah Elementary Teacher

NYIT - BFA

Dowling College – MSE Previous Tenure – Yes

Related to current employee - No Salary: Step/Level - 8/MA+30

Effective -8/31/15

This is a continuing 1.0 appointment. This appointment is due to the retirement of Deborah Cheney. Ms. Kiriluk was excessed from her elementary teaching position at the Board of Education meeting held on June 25, 2013, and is being recalled at the Board of Education meeting on July 7, 2015. Ms. Kiriluk will be assigned to Arrowhead Elementary School for the 2015-2016 school year. Fingerprint clearance for employment is on file.

Nani, Meryl Elementary Teacher

University of Delaware – BS LIU – Brentwood – MS Previous Tenure – Yes

Related to current employee – No Salary: Step/Level – 7/MA+45

Effective - 8/31/15

This is a continuing 1.0 appointment. This appointment is due to the resignation of Patricia Mastropierro. Ms. Nani was excessed from her elementary teaching position at the Board of Education meeting held on June 25, 2013 and is being recalled at the Board of Education meeting on July 7, 2015. Ms. Nani will be assigned to Arrowhead Elementary School for the 2015-16 school year. Fingerprint clearance for employment is on file.

Negus, Amanda Elementary Teacher

St. Joseph's College – BA
St. Joseph's College – MA
Previous Tenure – Yes

Related to current employee – Yes

Salary: Step/Level – 8/MA Effective – 8/31/15

Effective – 8/31/15

This is a continuing 1.0 appointment. This appointment is due to increase in staffing. Ms. Negus was excessed from her elementary teaching position at the Board of Education meeting held on June 25, 2013 and is being recalled at the Board of Education meeting on July 7, 2015. Ms. Negus will be assigned to Setauket Elementary School for the 2015-16 school year. Fingerprint clearance for employment is on file.

Tortorici, Lauren Elementary Teacher

Sacred Heart University – BS LIU, Brentwood – MS Previous Tenure – Yes

Related to current employee – No Salary : Step 8 Level MA+60

Effective - 8/31/15

This is a continuing 1.0 appointment. This appointment is due to the transfer of Andrew Weik. Ms. Tortorici was excessed from her elementary teaching position at the Board of Education meeting held on June 25, 2013 and is being recalled at the Board of Education meeting on July 7, 2015. Ms. Tortorici will be assigned to Setauket Elementary School for the 2015-16 school year. Fingerprint clearance for employment is on file.

Woods, Patricia Elementary Teacher

Previous Tenure – Yes

Related to current employee – No Salary : Step/Level – 12/MA

Effective – 8/31/15

This is a continuing 1.0 appointment. This appointment is due to increased staffing. Ms. Woods was excessed from her elementary teaching position at the Board of Education meeting held on June 25, 2013 and is being recalled at the Board of Education meeting on

July 7, 2015. Ms. Woods will be assigned to Minnesauke Elementary School for the 2015-16 school year. Fingerprint clearance for employment is on file.

#### Part-time & Leave Replacement teachers:

One-year Part-time Art Teacher Cappiello, Lisa

90% position

St. Joseph's College – BA Adelphi University – MA  $Previous \ Tenure-No$ 

Related to current employee – No Salary: Step/Level - 2/MA \$62,950 x .9 =

\$56,655

Effective 8/31/15-6/30/16

This is a one-year part-time (.9 FTE) due to the resignation and then appointment of Corinne Keane to the Assistant Principal position. Ms. Cappiello will be assigned to Ward Melville High School (.3), Gelinas (.2), Arrowhead /Setauket (alternating days for total of .4). Ms. Cappiello was a one-year teacher in the District in 2014-2015. Fingerprint clearance is on file.

DiBernardo, Tara

Teacher

One-year Part Time Physical Education

70% Position

Hofstra University - BS Previous Tenure - No

Related to Current Employee: No

Salary: Step/Level - 1/BA-Salary: \$53,529 x

.7 = \$37,470

Effective: 8/31/15 - 6/30/16

This is a one- year, part-time (.7 FTE) appointment, effective, 8/31/15-6/30/16. This appointment is due to reassignment of Cynthia Howard and increased enrollment. Ms. DiBernardo will be assigned .4 to Arrowhead/.3 Setauket Elementary School for the 2015-2016 school year. Fingerprint clearance for employment has been received.

Geoninatti, Claudia One-year Part-time Spanish Teacher

80% position SUNY Stony Brook – BA SUNY Stony Brook – MAT

Previous Tenure – No
Related to current employee – Yes

Salary: Step/ Level- 2/MA – Salary: \$62,950x .8= \$50,360

Effective; 8/31/15-6/30/16

This is a one- year, part-time (.8 FTE) appointment, effective, 8/31/15-6/30/16. This appointment is due to increased staffing. Ms. Geoninatti will be assigned to Gelinas (.2), Murphy (.2), Ward Melville High School (.4) for 2015-2016. Fingerprint clearance for employment has been received.

Hein, James One Year, Leave Replacement Music Teacher

University of Maryland - B.M.E.d.

Previous Tenure - No

Related to current employee - No Salary: Step/Level - 1/BA Effective: 8/31/15-6/30/16.

This is a one-year leave replacement appointment. This appointment is due to the leave of absence of Claudia Reinhart. Mr. Hein will be assigned .6 at Gelinas Junior High School and .4 at Murphy Junior High School for the 2015-2016 school year. Mr. Hein is a substitute teacher in the district and fingerprint clearance for employment is on file.

Hill, Jeanne One year Part-Time Music Teacher

50% Position York College - BS Previous Tenure - No

Related to current employee - No

Salary: Step/level - 1 BA - Salary \$53,529 x .5

= \$26.764

Effective: 8/31/15-6/30/16

This is a one-year part-time (.5 FTE) appointment, effective, 8/31/15-6/30/16. This appointment is due to enrollment growth. Ms. Hill will be assigned .4 to Murphy Junior High School and .1 to Minnesauke Elementary School for the 2015-2016 school year. Ms. Hill is a substitute teacher in the District and fingerprint clearance is on file.

Porter, Cynthia One-year, Leave replacement English Teacher

The College of Wooster - BA Stony Brook University - MA Dowling College - MS

Previous Tenure - No

Related to current employee - No Salary: Step/ Level 1/MA+30 Effective – 8/31/15- 6/30/16

This is a one-year leave replacement position, due to the leave of Laurie Burke. Ms. Porter has been a substitute teacher in the District and as such finger print clearance is on file. Ms. Porter will be assigned to Ward Melville High School for 2015-2016.

McGrath, Alyson One-year Leave Replacement Elementary

Teacher

Suffolk University, Boston – BS

LIU, C.W. Post - MS Previous Tenure - Yes

Related to current employee - No Salary: Step/Level -7/MA+60Effective 8/31/15-6/30/16

This is a one-year leave replacement position due to the child care leave of Amanda Besold. Ms. McGrath will be assigned to Arrowhead Elementary School for the 2015-2016 school year. Ms. McGrath was excessed from her Elementary position of 6/30/13. Fingerprint clearance is on file.

Muscarella, Christopher One-year Leave Replacement Physical

**Education Teacher** 

Adelphi University - BS, MA

Previous Tenure - No

Related to current employee - Yes Salary: Step/Level - 1/MA Effective: 8/31/15 - 6/30/16

This is a one-year leave replacement position due to the unpaid leave of absence of Christopher

Larochelle. Mr. Muscarella will be assigned to Nassakeag Elementary School for the 2015-2016 school year. Mr. Muscarella is the brother of Ronald Muscarella, a physical education teacher at Ward Melville High School. Mr. Muscarella is a substitute teacher and fingerprint clearance is on file.

One-year Part-time ENL Teacher Raspler, Laurie

50% Position SUNY Stony Brook - BA Molloy College - MS Previous Tenure: No

Related to current employee: No

Salary: Step/Level/Salary - 1/MA \$59,952 x .5

= \$29,976

Effective: 8/31/15-6/30/16

This is a one- year, part-time (.5 FTE) appointment, effective, 8/31/15-6/30/16. This appointment is due to enrollment growth. Ms. Raspler will be assigned .3 to Arrowhead Elementary and .2 to Murphy Junior High School for the 2015-2016 school year. Fingerprint clearance for employment has been received.

Rieckhoff, Daniel One-year Part-time Technology Teacher

50% Position

New York Institute of Technology - BS

Previous Tenure: No

Related to current employee: No

Salary: Step/Level/Salary - 1/BA \$53,529 x .5 = \$26,764

Effective: 8/31/15-6/30/16

This is a one- year, part-time (.5 FTE) appointment, effective, 8/31/15-6/30/16. This appointment is due to enrollment growth. Mr. Rieckhoff will be assigned to Paul J. Gelinas Junior High School for the 2015-2016 school year. Fingerprint clearance for employment has been received.

Ross, Lori One-year Part-time Guidance Counselor

80% position

St. Joseph's College – BA

Long Island University, Brentwood - MS

Previous Tenure -No

Related to current employee - Yes

Salary: Step 3 Level MA, Salary \$65,947x .8=

\$52,757.60

Effective - 8/31/15-6/30/16

This is a one-year, part-time (.8 FTE) appointment, effective, 8/31/15-6/30/16. This appointment is due to increased staffing. Ms. Ross was a .5 FTE guidance counselor for 2014-2015, and due to staffing increase will be a .8 FTE for 2015-2016. Ms. Ross will be assigned to the Alternate High School. Fingerprint clearance for employment is on file.

Savage, Harry One-year Leave Replacement Special

Education Teacher
St. Joseph's College - BA
Previous Tenure - No

Related to current employee - No Salary Step/Level - 2/BA+30 Effective - 8/31/15 - 6/30/16

This is a one-year leave replacement appointment. This appointment is due to the childcare leave of absence of Nicole Baxter. Mr. Savage will be assigned to Setauket Elementary for the 2015-2016 school year. Fingerprint clearance for employment is on file.

Schnettler, Garrett One-year Part-time Math Teacher

50% Position

Oneonta State College – BS Dowling College – MS Previous Tenure – No

Related to current employee – Yes Salary: Step 1 Level MA, Salary \$59,952 x

.5= \$29,976

Effective: 8/31/15 - 6/30/16

This is a one-year part-time (.5 FTE) appointment, effective 8/31/15-6/30/16. This appointment is due to increased staffing. Mr. Schnettler will be assigned to Gelinas JHS. Mr. Schnettler was previously a substitute teacher and a coach in the District. Fingerprint clearance is on file.

Serigano, Jennifer One-year Part-time Science Teacher

70% Position

SUNY Binghamton - BA Brooklyn College - MA Previous Tenure - No

Related to current employee - No

Salary: Step 2 Level MA, Salary \$62,950 x .7

= \$44,065

Effective: 8/31/15 - 6/30/16

This is a one-year part-time (.7 FTE) appointment, effective 8/31/15-6/30/16. This appointment is due to enrollment growth. Ms. Serigano will be assigned to Ward Melville High School for the 2015-2016 school year. Ms. Serigano was previously a one-year part-time teacher in the District and fingerprint clearance is on file.

Stelfox, Kristin One-year Part-time Social Studies Teacher

70% Position

Arizona State University – BA

LIU, C.W. Post – MS Previous Tenure – No

Related to current employee - No Salary Step/Level - 1/MA Salary -

\$59,952x.7= \$41,966.40 Effective: 8/31/15-6/30/16

This is a one- year, part-time (.7 FTE) appointment, effective, 8/31/15-6/30/16. This appointment is due to increased staffing. Ms. Stelfox was a .5 FTE social studies teacher for 2014-2015. Ms. Stelfox will be assigned to Ward Melville High School. Fingerprint clearance for employment is on file.

Ullah, Nicole One-Year Leave Replacement Teaching

Assistant

Dowling College - BA Dowling College - MS Previous Tenure - No

Related to current employee - No Salary Step/Level - \$27,521, 1/3 Effective - 9/1/15-6/30/16

This is a one-year leave replacement appointment, effective, 9/1/15 - 6/30/16. This appointment is due to the childcare/FMLA leave of absence of Ashley Goodstein. Ms. Ullah will be assigned to Paul J. Gelinas Junior High School for the 2015-2016 school year. Ms. Ullah is a substitute teacher in the District and fingerprint clearance for employment is on file.

Visser, Jillian One-year Leave Replacement Science Teacher SUNY Stony Brook - BA

SUNY Stony Brook - BA Dowling College - MS Previous Tenure - No

Related to current employee - Yes

Salary Step/Level - 1/MA Effective: 8/31/15 - 6/30/16

This is a one-year leave replacement appointment. This appointment is due to the leave of absence of Angelo Cadolino. Ms. Visser will be assigned .8 to Murphy Junior High School and .2 Ward Melville High School for the 2015-2016 school year. Ms. Visser is the daughter of Patrick McManus, Science Chairperson at Murphy Junior High School. Fingerprint clearance is on file.

#### New Probationary Teachers:

All probationary appointments made on or after July 1, 2015 are subject to the new fouryear probationary period. In order to be eligible for tenure, an individual receiving a probationary appointment as a classroom teacher or building principal must receive annual composite or overall APPR ratings of H or E in at least three of the four preceding years, and if the individual receives a rating of I in the final year of the probationary period, he or she will not be eligible for tenure at that time.

Catalfamo, Tammy **English Teacher** 

NYS Certification: English 7-12, Permanent

University of Delaware – BA San Diego State University - MA

Previous Tenure – No

Related to current employee – No Salary: Step/Level – 2/MA+15

Effective - 8/31/15

This is a four -year probationary appointment with anticipated tenure date of 9/1/19. This appointment is due to an increase in staffing. Ms. Catalfamo will be assigned to the Ward Melville High School. Ms. Catalfamo was a one-year teacher in the District in 2014-2015. Fingerprint clearance is on file.

Catanese, Tina Marie Social Worker

NYS Certification: School Social Worker,

Provisional, Expires 8/31/18 Stony Brook University – BA Stony Brook University - MSW

Previous Tenure – No Salary: Step/Level – 1/MA Effective – 8/31/15

This is a four -year probationary appointment with anticipated tenure date of 9/1/19. This appointment is due to the retirement of Deborah Johnston and increase in staffing. Ms. Catanese will be assigned to Nassakeag Elementary School. Fingerprint clearance has been received.

Chapman, Craig Physical Education Teacher

NYS Certification: Physical Education,

Permanent; Health, Permanent

University of Maryland - BS SUNY Stony Brook - MALS Previous tenure – Yes

Related to current employee - No Salary: Step/Level - 16/MA+60

Effective -8/31/15

This is a three-year probationary appointment with anticipated tenure date of 9/1/18. This appointment is due to the retirement of Matthew Brand. Mr. Chapman will be assigned to Setauket Elementary School for the 2015-2016 school year. Fingerprint clearance is on file.

Chapman, Jason Music Teacher

NYS Certification: Music, Initial Time

Extension, Expires 8/31/16 SUNY Purchase - BFA

Manhattan School of Music - MM

Previous tenure – No

Related to current employee - No Salary: Step/Level - 1/MA

Effective - 8/31/15

This is a four-year probationary appointment with anticipated tenure date of 9/1/19. This appointment is due to increased staffing. Mr. Chapman will be assigned to Ward Melville High School. Fingerprint clearance is on file.

DiFede, Christine Science Teacher

General Science 7-12, Extension – Permanent Biology 7-12, Professional; Earth Science 7-

Permanent

University of Rhode Island - BS Long Island University - MS Previous Tenure - Yes

Related to current employee – No Salary: Step/Level – 3/MA Effective – 8/31/15

This is a three -year probationary appointment with anticipated tenure date of 9/1/18. This appointment is due to increase in elective courses. Ms. DiFede will be assigned to the Three Village Academy for the 2015-2016 school year. Ms. DiFede was formerly employed as a one-year part-time teacher and as a substitute teacher in the District. Fingerprint clearance is on file.

Ennis, Jessica Guidance Counselor

NYS Certification: School Counselor,

Permanent

Sacred Heart University - BA

Long Island University, Brentwood – MS

Previous Tenure - No

Related to current employee – No Salary: Step/Level – 3/MA

Effective – 8/31/15

This is a four -year probationary appointment with anticipated tenure date of 9/1/19. This appointment is due to increase in staffing. Ms. Ennis will be assigned to the Murphy Junior High School. Ms. Ennis was formerly employed as a one-year teacher and as a substitute teacher in the District. Fingerprint clearance has been received.

Gobetz, Brianna English Teacher

NYS Certification: English Language Arts,

Initial, Expires 8/31/18 Ithaca College – BA

Columbia University Teachers College - MA

Previous Tenure – No Related to current employee – No Salary: Step/Level – 1/MA

Effective 8/31/15

This is a four -year probationary appointment with anticipated tenure date of 9/1/19. This appointment is due to increase in staffing. Ms. Gobetz will be assigned to Gelinas Junior High School. Ms. Gobetz was formerly employed as a teaching assistant and as a substitute teacher in the District. Fingerprint clearance is on file.

Heal, Jessica Reading Teacher

NYS Certification: Early Childhood B-2, Professional; Childhood Education 1-6, Professional; Literacy B-6, Professional

SUNY, Cortland – BS St. John's University - MS Previous Tenure – No

Related to current employee - No Salary Step/Level – 2/MA

Effective – 8/31/15

This is a four-year probationary appointment with an anticipated tenure date of 9/1/19. This appointment is due to the retirement of Barbara Mintz. Ms. Heal was excessed from her probationary position at the Board of Education meeting held on May 22, 2012. Ms. Heal will be assigned to Minnesauke Elementary School for the 2015-2016 school year. Fingerprint clearance for employment is on file.

Levenson, Melissa Special Education Teacher

NYS Certification: Students with Disabilities

B-2,

Initial, Expires 1/31/18; Students with Disabilities Grades 1-6, Initial, Expires

1/31/18; Students with

Disabilities Grades 7-12 Generalist, Initial,

Expires 8/31/19

SUNY at Oneonta – BS Long Island University - MS Previous Tenure – No

Related to current employee – Yes Salary: Step/ Level - 1/MA

Effective: 8/31/15

This is a four -year probationary appointment with anticipated tenure date of 9/1/19. This appointment is due to the retirement of Cathleen Calligheris-Cobb. Ms. Levenson will be assigned .8 to Murphy Junior High School and .2 Mount Elementary School for the 2015-2016 school year. Fingerprint clearance is on file.

Meier, Brendan Music Teacher

NYS Certification: Music, Initial, Expires

8/31/19

SUNY Potsdam - BSM

#### Minutes of September 9, 2015

Previous Tenure – No

Related to current employee – No

Salary: Step/Level – 1/BA Effective: 8/31/15

This is a four-year Probationary appointment with anticipated tenure date of 9/1/19. This is due to the re-assignment of Anthony Pollera. Mr. Meier will be assigned to Murphy JHS (.9) and the Alternate High School (.1). Mr. Meier was employed in the District in the 2014-2015 school year. Fingerprint clearance for employment is on file.

Mulham, Corinne Speech Teacher

NYS Certification: Speech and Hearing

Handicapped, Permanent Fairfield University – BA Hofstra University – MA Previous Tenure – No

Related to current employee – No Salary: Step/Level – 2/MA

Effective -8/31/15

This is a four-year probationary appointment with anticipated tenure date of 9/1/19. This appointment is due to the retirement of Donna Beer. Ms. Mulham will be assigned to Murphy Junior High School and District Wide. Ms. Mulham has worked in the District as a substitute teacher. Fingerprint clearance is on file.

Muzzonigro, Michele Special Education Teacher

NYS Certification: Students with Disabilities

Grades 1-6, Initial, Expires 8/31/19

Hofstra University – BS Touro College - MS Previous Tenure – No

Related to current employee – Yes

Salary: Step/ Level - 1/MA

Effective: 8/31/15

This is a four -year probationary appointment with anticipated tenure date of 9/1/19. This appointment is due to the resignation of Rebecca Marino. Ms. Muzzonigro will be assigned to Setauket Elementary School for the 2015-2016 school year. Ms. Muzzonigro is the sister of Dawn Alexander, Autism Consultant District-wide. Fingerprint clearance is on file.

Preston, Kimberly American Sign Language Teacher

NYS Certification: American Sign Language,

Permanent; Deaf and Hearing Impaired, Permanent University of Arizona- BA Gallaudet University - MA Previous Tenure - No

Related to current employee - No Salary: Step/Level - 16/MA+15

Effective -8/31/15

This is a four -year probationary appointment with anticipated tenure date of 9/1/19. This appointment is due to enrollment changes. Ms. Preston will be assigned to the Alternate High School, Murphy Junior High School and Ward Melville High School. Ms. Preston was formerly employed as a part-time teacher in the District. Fingerprint clearance has been received.

Ruggles, Theresa Music Teacher

NYS Certification: Music, Initial, Expires

8/31/19

Hofstra University – BS Previous Tenure – No

Related to current employee – No

Salary: Step/Level - 1/BA

Effective: 8/31/15

This is a four -year probationary appointment with anticipated tenure date of 9/1/19. This appointment is due to the retirement of Robert Davies. Ms. Ruggles will be assigned to the Ward Melville High School (.4) and Mount Elementary School (.6). Fingerprint clearance has been received.

Russo, Stacey ESL Teacher

NYS Certification: English to Speakers of Other Languages, Permanent; English 7-12, Permanent; School District Administration, Permanent New Paltz University – BA Long Island University – MA

 $Previous \ Tenure-No$ 

Salary: Step/Level – 11/MA+45 Effective - 8/31/15

This is a four -year probationary appointment with anticipated tenure date of 9/1/19. This appointment is due to the requirement for dually certified ESL teachers and resultant increased staffing. Ms. Russo will be assigned to the Ward Melville High School. Fingerprint clearance has been received.

Smit, Michael Math Teacher

NYS Certification: Math 7-12, Initial, Expires

8/31/20

Cornell University - BS Hofstra University - MS Previous Tenure - No

Related to current employee - No Salary: Step / Level - 1/MA+15

Effective – 8/31/15

This is a four-year probationary appointment with anticipated tenure date of 9/1/19. This appointment is due to the transfer of Matthew Fyfe to Murphy as Dean and a new program covering AP Computer Science. Mr. Smit will be assigned to Ward Melville High School. Fingerprint clearance is on file.

New Probationary Teaching Assistants:

All probationary appointments made on or after July 1, 2015 are subject to the new fouryear probationary period.

Cortes, Melissa Teaching Assistant

Long Island University - BS SUNY Stony Brook - MA Previous Tenure - Yes

Related to current employee - No Salary: Step/Level - \$27,521, 1/3

Effective - 8/31/15

This is a four-year probationary appointment with tenure due 8/31/19. This appointment is due to the resignation of Marylou Nilsson. Ms. Cortes will be assigned to Murphy Junior High School for the 2015-2016 school year. Fingerprint clearance for employment has been received.

Kahnis, Erin

Teaching Assistant Parsons School of Design - B.F.A

Dowling College - MS Previous Tenure - No

Related to current employee - Yes Salary Step/Level – \$27,521, 1/3 Effective - 8/31/15

This is a four-year probationary appointment with tenure due 8/31/19. This appointment is due to the transfer of Christine Gluck and resignation of Christina Giordano. Ms. Kahnis will be assigned to Paul J. Gelinas Junior High School for the 2015-2016 school year. Ms. Kahnis is the sister of Bevin Jackett, Reading Teacher at Murphy Junior High School. Ms. Kahnis is a substitute teacher in the District and fingerprint clearance for employment is on

Lorenzen, Jennifer Teaching Assistant

Dowling College - BA SUNY Stony Brook - MA Previous Tenure - No

Related to current employee - No Salary Step/Level – \$27,521, 1/3 Effective - 8/31/15

This is a four-year probationary appointment with tenure due 8/31/19. This appointment is due to the resignation of Danielle Renna. Ms. Lorenzen will be assigned to Paul J. Gelinas Junior High School for the 2015-2016 school year. Ms. Lorenzen is a substitute teaching assistant and coach in the District. Fingerprint clearance for employment is on file.

Ullah, Nicole **Teaching Assistant** 

Dowling College - BA Dowling College - MS Previous Tenure - No

Related to current employee - No Salary Step/Level – \$27,521, 1/3 Effective - 9/7/15

This is a four-year probationary appointment with tenure due 9/7/19. This appointment is due to the resignation of Erin Kahnis. Ms. Ullah will be assigned to Paul J. Gelinas Junior High School for the 2015-2016 school year. Ms. Ullah was approved at the Board of

#### Minutes of September 9, 2015

Education meeting held on September 9, 2015 as a one-year leave replacement teaching assistant. Fingerprint clearance for employment is on file.

#### Nurses:

Ahmedani, Annela Registered Nurse

Adelphi University - BSN Previous Tenure - No

Related to current employee - No Salary Step/Level - 10/NURSE

Effective - 8/31/15

This is a full-time appointment. This appointment is due to the resignation of Letitia Desciscio. Ms. Ahmedani will be assigned to Setauket Elementary School for the 2015-16 school year. Fingerprint clearance for employment has been received.

Smith, Jeanette Registered Nurse

SUNY Empire State - BSN Previous Tenure - No

Related to current employee - No Salary Step/Level - 7/NURSE

Effective - 8/31/15

This is a full-time appointment. This appointment is due to the retirement of Kathryn Moran. Ms. Smith will be assigned to Arrowhead Elementary School for the 2015-16 school year. Fingerprint clearance for employment has been received.

#### APPOINTMENTS TO SUBSTITUTE TEACHER/NURSE/PARAPROFESSIONAL/ TEACHING ASSISTANT POSITIONS

## Substitute Teachers:

#### Buys, Megan

Ms. Buys was approved by Ms. Pedisich on 8/26/15 for emergency appointment to begin working on 8/31/15.

Fingerprint clearance has been received.

## Catti, Alex

Fingerprint clearance has been received.

## Gambella, Laurie Ann

Fingerprint clearance has been received.

#### McGee, Marian

Ms. McGee is currently a substitute TA. She has requested to be added to the substitute teaching list.

Fingerprint clearance is on file.

#### Metrio, Jessica

Fingerprint clearance has been received.

# Nash, Katherine

Ms. Nash was approved by Ms. Pedisich on 8/28/15 for emergency appointment to begin working on 8/31/15.

Fingerprint clearance has been received.

#### Renna, Danielle

Ms. Renna resigned from her TA position at Gelinas Jr. High effective 8/28/15. She has requested to be added to our substitute teacher list to continue home component services. Ms. Renna was approved by Ms. Pedisich on 9/2/2015 to begin working as a substitute teacher on 9/2/2015.

Fingerprint clearance is on file.

## Rieckhoff, Daniel

Mr. Rieckhoff was hired as a .5 one-year teacher effective 8/31/2015. Mr. Rieckhoff has requested to be added to our substitute teacher list, so that he can substitute teach during the other half of his day.

Fingerprint clearance is on file.

# Schryver, Alison

Ms. Schryver was approved by Ms. Pedisich on 8/26/15 for emergency appointment to begin working on 8/31/15.

Fingerprint clearance has been received.

# Sheerin, Bridget

Ms. Sheerin was approved by Ms. Pedisich on 8/26/15 for emergency appointment to begin working on 8/31/15.

Fingerprint clearance has been received.

#### Toner, Jocelyn

Fingerprint clearance has been received.

#### **Substitute Teaching Assistants:**

#### Donin, Alexis

Ms. Donin is currently on our substitute Special Ed Aide list and has requested to be added to the substitute teaching assistant list.

Fingerprint clearance is on file.

#### Substitute Nurses:

#### Fondacaro, Renee

Ms. Fondacaro was approved on 8/27/15 for emergency appointment by Ms. Pedisich to begin working on 9/1/15.

Fingerprint clearance has been received.

#### Higgins, Maureen

Fingerprint clearance has been received.

# Puleo, Michelle

Ms. Puleo was approved on 8/13/15 for emergency appointment by Ms. Pedisich to begin working on 8/20/2015.

Fingerprint clearance has been received.

# Ahmedani, Annela

Ms. Ahmedani was approved for emergency appointed by Ms. Pedisich on 8/6/15 to work as a substitute nurse effective 8/6/15 through 8/30/15. Ms. Ahmedani is being hired as a full time nurse effective 8/31/15.

Fingerprint clearance has been received.

# APPOINTMENTS OF FALL SUPERVISION/COACH POSITIONS

<u>Last</u> <u>Name</u>	<u>First</u> <u>Name</u>	Building	Assign- ment	Effec- tive	<u>Step</u>	Year	Total Years	Stipend	<u>Status</u>		
Junior High	Coaches										
Williams	Louise	Gelinas	Girls Soccer 7/8	Fall	2	2	4	\$4,887.00	In- District		
The above reon 8/24/15	The above recommendations were approved by Ms. Pedisich on 8/18/15 for emergency appointment to beginning										
Cortes	Melissa	Murphy	Girls Soccer	Fall	1	1	1	\$4,733.00	In District		
7/8 The above recommendations were approved by Ms. Pedisich on $9/1/15$ for emergency appointment to beginning on $9/8/15$											
High School	ol Coaches										
Musca- rella	Christo- pher	WMHS	Asst. Varsity Football	Fall	2	3	3	\$8,640.00	In District		
Replacing Br 8/17/15 was a			iously appro		7/7/15 a	genda. E	mergency	approval to beg	gin on		
Butler	Shaylyn	WMHS	Asst. Varsity Field Hockey	Fall	1	1	1	\$6,366.00	Out of District		
Byrne	Eliza- beth	WMHS	JV Field	Fall	1	1	1	\$6,366.00	In District		
Caggiano	Lauren	WMHS	Hockey JV Girls Volleyb	Fall	1	1	1	\$ 6,366.00	Out of District		
Cantwell	Greg- gory	WMHS	all Varsity Boys Cross	Fall	2	1	3	\$7,273.00	Out of District		
Madsen	Dennis	WMHS	Country Asst. Varsity Boys Volleyb	Fall	1	1	1	\$6,366.00	Out of District		
Vetro	Rocco	WMHS	all JV Girls	Fall	3	3	8	\$6,780.00	In		

District

Soccer

Replacing Rocco Vetro's previous assignment as Murphy Girls Soccer coach on the 7/7/15 agenda. All the above recommendations were approved by Ms. Pedisich for emergency appointment on 8/8/15 to begin on 8/24/15.

Athletic Su	pervision				Not to	
Butler	Shaylyn	District	Athletic Supervis	2015- 2016	<u>Exceed</u> \$2,500.00	Out of District
Byrne	Eliza- beth	District	Athletic Supervis	2015- 2016	\$2,500.00	In District
Cantwell	Greg- gory	District	Athletic Supervis	2015- 2016	\$2,500.00	Out of District
Hart	Harry	District	Athletic Supervis	2015- 2016	\$2,500.00	Retired
Madsen	Dennis	District	Athletic Supervis	2015- 2016	\$2,500.00	Out of District
Williams	Louise	District	Athletic Supervis	2015- 2016	\$2,500.00	In District
Supervision	Rate:	\$27.50/hr	prior to 6:00	p.m.		

 $41.25/\mathrm{hr}$  after 6:00 p.m. and on days school is closed

Scoreboard Timer: \$105.64 p. contest

All other times/scorers receive supervision pay rate

# APPOINTMENTS OF CO-CURRICULAR SPONSORS

Last Name	First Name	Building	Activity	<u>Effective</u>	Rate	Not to Exceed
Co-Curricular	: Clubs					
Esser	Chris	Gelinas	Art Club	2015- 2016	\$1,472.00	\$1,472.00
Rabbitt	Alisa	Gelinas	Chamber Orchestra	2015- 2016	\$2,547.00	\$2,547.00
DeRosa	Michael	Gelinas	Drama Club (Fall)	2015- 2016	\$1,472.00	\$1,472.00
Roarty	Karen	Gelinas	Global Language Honor	2015- 2016	\$1,472.00	\$1,472.00
Portugal	Mark	Gelinas	Society Jazz Band	2015- 2016	\$2,547.00	\$2,547.00
Matros	Nick	Gelinas	Lighting Club	2015- 2016	\$736.00	
Milillo	Mike	Gelinas	Lighting Club	2015- 2016	\$736.00	
*Total Stipen \$1472.00	d For All Lightin	g Co-Advisors No	ot To Exceed	2010		
Reo	Scott	Gelinas	Makers Space Club	2015- 2016	\$1,472.00	\$1,472.00
McNamara	Laura	Gelinas	Math Team - 7th grade	2015- 2016	\$2,086.00	\$2,086.00
Glasheen	Rich	Gelinas	Math Team - 8th/9th grade	2015- 2016	\$2,086.00	\$2,086.00
Chase	Christine	Gelinas	Model U.N.	2016 2015- 2016	\$1,472.00	\$1,472.00
Sacco	Mike	Gelinas	National Art Junior Honor Society	2016 2015- 2016	\$1,472.00	\$1,472.00
Ehlers	Tim	Gelinas	National Junior Honor Society	2015- 2016	\$2,086.00	\$2,086.00
Milillo	Mike	Gelinas	Newspaper	2015- 2016	\$736.00	
Shaw	Jackie	Gelinas	Newspaper	2015- 2016	\$736.00	
*Total Stipen	d For Both News	paper Co-Advisor	s Not To Exceed \$1			
Jordan	Sean	Gelinas	Orchestra Director	2015- 2016	\$3,385.00	\$3,385.00
Stiegel- maier	Kevin	Gelinas	S.A.V.E.	2015- 2016	\$1,472.00	\$1,472.00
Marotta	Chris	Gelinas	Science Olympiad	2015- 2016	\$1,472.00	\$1,472.00
Vorwald	Gary	Gelinas	Science Olympiad	2015- 2016	\$2,547.00	\$2,547.00
Gobetz	Brianna	Gelinas	Coordinator Student Council	2015- 2016	\$2,034.00	
Perotti	Jen	Gelinas	Student Council	2015-	\$2,034.00	
*Total Stipen Exceed \$4068		t Council Co-Adv	isors Not To	2016		
Herrel	Kraig	Gelinas	Technology/Wo odworking	2015- 2016	\$1,472.00	\$1,472.00
DePersio	Robert	Gelinas	Theatre Arts Director	2016 2015- 2016	\$7,064.00	\$7,064.00

Elliot	Doug	Gelinas	Three Village	2015-	\$2,547.00	\$2,547.00
D.D. '	D.I.	C I	Mock Trial Team	2016	#2.547.00	¢2.547.00
DePersio	Robert	Gelinas	Vocal Vikings	2015- 2016	\$2,547.00	\$2,547.00
Jordan	Sean	Gelinas	Wind Ensemble	2015- 2016	\$2,547.00	\$2,547.00
Connelly	Nicole	Gelinas	Yearbook	2015- 2016	\$2,034.00	
Palmer	Lori	Gelinas	Yearbook	2015- 2016	\$2,034.00	
*Total Stipend	d For All Yearbo	ok Co-Advisors N	ot To Exceed \$4068	.00		
Sterne	Ira	WMHS	Secular Student Alliance	2015- 2016	\$2,085.00	\$2,085.00
Contino	Linda	WMHS	Camerata	2015-	\$3,578.00	\$3,578.00
Gustavsen	Laura	WMHS	Marching Band Director	2016 2015- 2016	\$1,789.00	\$1,789.00
Gustavsen	Laura	WMHS	(shared) Marching Band Assistant Director	2015- 2016	\$1,473.00	\$1,473.00
Hayes	Dan	Mnt	(shared) Marching Band Director	2015- 2016	\$1,789.00	\$1,789.00
	Dan	Mnt	(shared) Marching Band	2015-	\$1,473.00	\$1,473.00
Hayes	Dan	Will	Assistant Director	2016	\$1,473.00	\$1,475.00
C	T	WMHS	(shared) Wind Ensemble	2015	¢2 579 00	¢2.570.00
Gustavsen	Laura	WMINS	Wind Ensemble	2015- 2016	\$3,578.00	\$3,578.00
Contino	Linda	WMHS	Theater Vocal Musical	2015- 2016	\$3,984.00	\$3,984.00
Contino			Director	2010		
Contino	Linda	WMHS	Theater Orchestra	2015- 2016	\$2,984.00	\$2,984.00
			Musical	2010		
			Director (shared)			
Gustavsen	Laura	WMHS	Theater	2015-	\$1,000.00	\$1,000.00
			Orchestra Musical	2016		
			Director			
Contino	Linda	WMHS	(shared) Musical	2015-	\$1,002,00	\$1,002,00
Contino	Liliua	WMINS	Production	2015-	\$1,992.00	\$1,992.00
D. с. с. с. с.	Steve	WMHS	(shared) Musical	2015-	¢1 002 00	\$1,992.00
Rogers	Sieve	WWIIIS	Production	2015-	\$1,992.00	\$1,992.00
Contino	Linda	WMHS	(shared) Ticketing/Marke	2015-	¢1 272 50	¢1 272 50
Contino	Liliua	WINIIS	ting/Advertising	2016	\$1,273.50	\$1,273.50
Doggers	Steve	WMHS	(shared) Ticketing/Marke	2015-	\$1,273.50	\$1 273 50
Rogers	Sieve	WINIUS	ting/Advertising	2015-	\$1,273.30	\$1,273.50
Dugglee	Theresa	WMHS	(shared) Chamber	2015-	\$3,578.00	\$3,578.00
Ruggles	Theresa	WWIIIS	Ensemble	2015-	\$3,376.00	\$5,576.00
Gelfer	Phil	WMHS	Chamber Orchestra	2015- 2016	\$3,578.00	\$3,578.00
Chapman	Jason	WMHS	Jazz Band III	2015-	\$3,578.00	\$3,578.00
				2016		
Spira	Robert	WMHS	Academic	2015-	\$3,385.00	\$3,385.00
•	V.i.t.	WALLC	Challenges Club	2016		
Dietz	Kristen	WMHS	Art Honor Society	2015- 2016	\$2,547.00	\$2,547.00
Contino	Linda	WMHS	Auditorium House Manager	2015- 2016	\$1,992.00	\$1,992.00
Rogers	Steven	WMHS	Auditorium	2015-	\$1,992.00	\$1,992.00
Kowalenko	Randi	WMHS	House Manager Bookstore	2016 2015-	\$1,992.00	\$1,992.00
T M .		WALLC	D 1.	2016		
LaMonica	Maryann	WMHS	Bookstore	2015- 2016	\$1,992.00	\$1,992.00
Swierupski	James	WMHS	Ceramics	2015- 2016	\$2,085.00	\$2,085.00
Stuart	Ryan	WMHS	Chess Club	2015-	\$2,085.00	\$2,085.00
Tam	Aaron	WMHS	Computer	2016 2015-	\$1,042.50	\$1,042.50
Smit	Michael	WMHS	Science Club Computer	2016 2015-	\$1,042.50	\$1,042.50
			Science Club	2016		
Rogers	Steven	WMHS	Concert Crew/School	2015- 2016	\$3,984.00	\$3,984.00
			Event Crew			
Hannifin	Danielle	WMHS	Environmental Club	2015- 2016	\$2,085.00	\$2,085.00
Wilson	Robert	WMHS	Fishing Club	2015-	\$2,085.00	\$2,085.00
Quiros	Melissa	WMHS	French Honor	2016 2015-	\$2,547.00	\$2,547.00
			Society	2016	, <del>.</del>	. ,

Chesney- Gold	Alyssa	WMHS	Future Business Leaders of	2015- 2016	\$1,273.50	\$1,273.50
Vonnes	Carol	WMHS	America Future Business Leaders of	2015- 2016	\$1,273.50	\$1,273.50
Thomas	Jennifer	WMHS	America Gay Straight	2015-	\$2,085.00	\$2,085.00
Goldberg	Annette	WMHS	Alliance Hebrew Culture	2016 2015-	\$2,085.00	\$2,085.00
Kost	Maureen	WMHS	Club HOSA - Future	2016 2015-	\$2,085.00	\$2,085.00
			Health Professionals	2016		
Michel	Silva	WMHS	Club International	2015-	\$2,085.00	\$2,085.00
Dwyer	Alex	WMHS	Culture Club Italian Club	2016 2015-	\$2,085.00	\$2,085.00
Goldberg	Annette	WMHS	Key Club	2016 2015-	\$3,385.00	\$3,385.00
Rochford	Lisa	WMHS	Literary/Art Magazine -	2016 2015- 2016	\$2,547.00	\$2,547.00
Tam	Aaron	WMHS	Cinnabar Math Team	2015-	\$2,547.00	\$2,547.00
DiLorenzo	Stephanie	WMHS	Media Club	2016 2015-	\$3,984.00	\$3,984.00
Pelosi	Andrew	WMHS	Model UN	2016 2015-	\$3,385.00	\$3,385.00
Geoninatti	Claudia	WMHS	National Honor	2016 2015-	\$1,692.50	\$1,692.50
Russo	Stacey	WMHS	Society National Honor	2016 2015-	\$1,692.50	\$1,692.50
Cowan	Kerry	WMHS	Society Newspaper -	2016 2015-	\$7,088.00	\$7,088.00
DiIorio	Jessica	WMHS	Kaleidoscope Newspaper -	2016 2015-	\$2,085.00	\$2,085.00
			Kaleidoscope Business Manager	2016		
Cereola	Vincent	WMHS	Patriot League	2015- 2016	\$2,085.00	\$2,085.00
Dietz	Kristen	WMHS	Photography Club	2015- 2016	\$2,085.00	\$2,085.00
Hurley	Terri	WMHS	Prom	2015-	\$7,088.00	\$7,088.00
Stringer	Megan	WMHS	Prom Business	2016 2015-	\$3,984.00	\$3,984.00
Rogers	Steven	WMHS	Manager Robotics	2016 2015-	\$1,992.00	\$1,992.00
Williams	John	WMHS	Robotics	2016 2015-	\$1,992.00	\$1,992.00
Watson	Shannon	WMHS	S.A.L.T.	2016 2015-	\$2,085.00	\$2,085.00
Cusumano	Amy	WMHS	S.H.A.R.P.	2016 2015-	\$3,385.00	\$3,385.00
Suesser	Mark	WMHS	Science	2016 2015-	\$2,547.00	\$2,547.00
Serigano	Jennifer	WMHS	Olympiad Science	2016 2015-	\$2,547.00	\$2,547.00
Sterne	Ira	WMHS	Olympiad Secular Student	2016 2015-	\$2,085.00	\$2,085.00
Martin	Marvel	WMHS	Alliance Spanish Honor	2016 2015-	\$2,547.00	\$2,547.00
Kraemer	Dianne	WMHS	Society Student	2016 2015-	\$3,984.00	\$3,984.00
Dunbar	Kristen	WMHS	Government Student	2016 2015-	\$3,984.00	\$3,984.00
Edgar	Ginny	WMHS	Government Student	2016 2015-	\$3,984.00	\$3,984.00
Jimenez	Kathy	WMHS	Government Students United	2016 2015-	\$2,085.00	\$2,085.00
Gregory	Glenda	WMHS	in Faith Teen Issues	2016 2015-	\$2,085.00	\$2,085.00
Meier	Brendan	WMHS	Tri-M Music	2016 2015-	\$1,692.50	\$1,692.50
Ruggles	Theresa	WMHS	Honor Society Tri-M Music	2016 2015-	\$1,692.50	\$1,692.50
Favre	Maria	WMHS	Honor Society Ward Melville	2016 2015-	\$8,836.00	\$8,836.00
Rogers	Steven	WMHS	Players Ward Melville	2016 2015-	\$2,085.00	\$2,085.00
			Players Technical Advisor	2016		
Gregory	Glenda	WMHS	Women's Forum	2015- 2016	\$2,085.00	\$2,085.00
Weisman	Cortney	WMHS	Yearbook	2015- 2016	\$8,836.00	\$8,836.00
Murolo	Jackie	WMHS	Yearbook - Assistant	2015- 2016	\$2,085.00	\$2,085.00
Trettner	Jennifer	WMHS	Advisor Yearbook -	2015-	\$3,984.00	\$3,984.00
			Business Manager	2016		

# APPOINTMENTS OF ANNUAL EXTRA ASSIGNMENTS

<u>Last Name</u>	<u>First</u> Name	Building	Assignment	<u>Effective</u>	Stipend	Not to Exceed
Stipends						<u> </u>
Warren- Barbieri	Kathy	Gelinas	FACS Department Shopper	2015-2016	\$1,250.00	\$1,250.00
Warren- Barbieri Lead Teachers	Kathy	Murphy	FACS Department Shopper	2015-2016	\$1,250.00	\$1,250.00
Poulos	Amy	Murphy	Lead Guidance Counselor - 2nd Year	2015-2016	\$2,648.00	\$2,648.00
McCaffrey	Virginia	WMHS	Special Education Lead Teacher - 1st Year	2015-2016	\$2,648.00	\$2,648.00
Pimentel	Laura	Admin	Special Education Data Specialist - 7th Year	2015-2016	\$3,639.00	\$3,639.00
Dattero	Anthony	Gelinas	Guidance Lead - 10+ Years	2015-2016	\$4,631.00	\$4,631.00
This is a correc	tion from the	e 7/7/15 board n	neeting's stipend amount	of \$ 4540.00		
Jenkins	Nancy	Gelinas	Family and Consumer Science Lead 10+	2015-2016	\$2,315.50	\$2,315.50
Jenkins	Nancy	Murphy	yrs Family and Consumer Science Lead 10+ yrs	2015-2016	\$2,315.50	\$2,315.50
This is a correction	on from the	7/7/15 board me	eeting. Ms. Jenkin's stip	end of \$4631 will	be split betwe	een Murphy
and Gelinas.					•	
Pollera	Anthony	Murphy	Transitional District Music Lead Teacher - 4th Year	2015-2016	\$2,648.00	\$2,648.00
Curatolo	Mona	Nassakeag	Lead Reading Teacher - 2nd Year	2015-2016	\$2,648.00	\$2,648.00
Henriques	Lisa	Minnesauke	Lead Reading Teacher - 2nd Year	2015-2016	\$2,648.00	\$2,648.00
Maaiki	Nancy	Arrowhead	Lead Reading Teacher - 2nd Year	2015-2016	\$2,648.00	\$2,648.00
Prinzevalli	Rachel	Mount	Lead Reading Teacher - 2nd Year	2015-2016	\$2,648.00	\$2,648.00
Seligson	Lisa	Setauket	Lead Reading Teacher - 2nd Year	2015-2016	\$2,648.00	\$2,648.00

# APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

<u>Last Name</u>	<u>First</u> <u>Name</u>	Building	Assignment	Effective	Rate	<u>Hours</u>	Not to Exceed
Chaperone/S	upervision						
Ross	Lori	3V	Student	2015-	\$ 42.12/hr	10	\$421.20
		Academy	Chaperoning/ Supervision	2016			
Zeidman	Stacey	3V	Student	2015-	\$ 42.12/hr	35	\$1,474.20
		Academy	Chaperoning/ Supervision	2016			
Alu	Loree	Arrowhead	Chaperoning	2015-	\$ 42.12/hr		\$500
				2016			
Anderson	Melissa	Arrowhead	Chaperoning	2015-	\$ 42.12/hr		\$500
Cabral	Suzanne	Arrowhead	Chamanina	2016	\$ 42.12/hr		\$500
Cabrai	Suzanne	Arrownead	Chaperoning	2015- 2016	\$ 42.12/nr		\$500
Macaluso-	Trisha	Arrowhead	Chaperoning	2015-	\$ 42.12/hr		\$500
Cipriano	Tibila	7 II TO WII Cud	emaperoning	2016	ψ 12.12/11		Ψ500
•							
Condron	Rachel	Arrowhead	Chaperoning	2015-	\$ 42.12/hr		\$500
a "			an .	2016	<b>*</b> 42.42.1		<b>4.500</b>
Connolly	Janice	Arrowhead	Chaperoning	2015-	\$ 42.12/hr		\$500
Connolly	Robert	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
Connony	Robert	Arrownead	Chaperoning	2013-	\$ 42.12/III		\$300
Castoro	Marisa	Arrowhead	Chaperoning	2015-	\$ 42.12/hr		\$500
Custoro	11111101	1 III o w II o uu	compersoning	2016	ψ ·2·12/111		Ψ200
DeLorenzo	Heather	Arrowhead	Chaperoning	2015-	\$ 42.12/hr		\$500
				2016			
Gallagher	Alex	Arrowhead	Chaperoning	2015-	\$ 42.12/hr		\$500
				2016			+
Giambalvo	Jennifer	Arrowhead	Chaperoning	2015-	\$ 42.12/hr		\$500
Guiffreda	Meredith	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
Guirreda	Meredilli	Arrownead	Chaperoning	2015-	\$ 42.12/111		\$300
Hawkins	Ryan	Arrowhead	Chaperoning	2015-	\$ 42.12/hr		\$500
		- 1110110444		2016	- ·2··2·		7000
Herrmann	Lorin	Arrowhead	Chaperoning	2015-	\$ 42.12/hr		\$500
			-	2016			

Howland	Noreen	Arrowhead	Chaperoning	2015-	\$ 42.12/hr		\$500
Hegarty	Lorraine	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
Kiriluk	Deborah	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
Kunkel	Ed	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
Maffia	Christine	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
Maletta	Catherine	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
				2016			,
McGrath	Alyson	Arrowhead	Chaperoning	2015- 2016	\$ 42.12/hr		\$500
Metelenis	Michelle	Arrowhead	Chaperoning	2015- 2016	\$ 42.12/hr		\$500
Michalski	Deborah	Arrowhead	Chaperoning	2015- 2016	\$ 42.12/hr		\$500
Miller	Kerrie	Arrowhead	Chaperoning	2015- 2016	\$ 42.12/hr		\$500
Mueller	Paul	Arrowhead	Chaperoning	2015- 2016	\$ 42.12/hr		\$500
Nani	Meryl	Arrowhead	Chaperoning	2015-	\$ 42.12/hr		\$500
Oestreicher	Tammy	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
Peters	Michelle	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
Pulaski	Joseph	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
Rief	Meghan	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
Rovegno	Brianna	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
	Gina		1 0	2016			
Schwarz		Arrowhead	Chaperoning	2015- 2016	\$ 42.12/hr		\$500
Starr	Jennie	Arrowhead	Chaperoning	2015- 2016	\$ 42.12/hr		\$500
Stevens	Jennifer	Arrowhead	Chaperoning	2015- 2016	\$ 42.12/hr		\$500
Stolfi	Jennifer	Arrowhead	Chaperoning	2015- 2016	\$ 42.12/hr		\$500
Taraboc- chia	Christina	Arrowhead	Chaperoning	2015- 2016	\$ 42.12/hr		\$500
Tardo	Danielle	Arrowhead	Chaperoning	2015-	\$ 42.12/hr		\$500
Theofield	Kristen	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
Vosilla	Marlene	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
Walsh	Danielle	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
Weiler	Christy	Arrowhead	Chaperoning	2016 2015-	\$ 42.12/hr		\$500
Alberti	Cathy	Arrowhead	1:1	2016 2015-	\$ 20.19/hr	6	
			Before/After School	2016	+ =	hours/ day	
A 1	Rosemarie	A J	Supervision	2015	¢ 20.10/h	•	
Alvino	Rosemane	Arrowhead	1:1 Before/After	2015- 2016	\$ 20.19/hr	6 hours/	
			School Supervision			day	
Atallah	Rita	Arrowhead	1:1 Before/After	2015- 2016	\$ 20.19/hr	6 hours/	
			School Supervision			day	
Barone	Teresa	Arrowhead	1:1 Before/After	2015- 2016	\$ 20.19/hr	6 hours/	
			School Supervision	2010		day	
Bayles	Tanya	Arrowhead	1:1	2015-	\$ 20.19/hr	6	
			Before/After School	2016		hours/ day	
Brennan	Jamie	Arrowhead	Supervision 1:1	2015-	\$ 20.19/hr	6	
			Before/After School	2016		hours/ day	
Byrne	Cindy	Arrowhead	Supervision 1:1	2015-	\$ 20.19/hr	6	
2,	ema)	Timo wileud	Before/After School	2016	Ф 2011)/III	hours/ day	
Commi	Mon	A 1	Supervision	2015	¢ 20 10#	·	
Carpen- zano	Marguerit e	Arrowhead	1:1 Before/After	2015- 2016	\$ 20.19/hr	6 hours/	
			School Supervision			day	
Cowen	Jen	Arrowhead	1:1 Before/After	2015- 2016	\$ 20.19/hr	6 hours/	
			School Supervision			day	
Doherty	Kathleen	Arrowhead	1:1 Before/After	2015- 2016	\$ 20.19/hr	6 hours/	
			School Supervision	_3.0		day	
			Supervision				

Dubowski	Susan	Arrowhead	1:1 Before/After	2015- 2016	\$ 20.19/hr	6 hours/
Dunn	Maria	Arrowhead	School Supervision 1:1 Before/After	2015- 2016	\$ 20.19/hr	day 6 hours/
Feterman	Susan	Arrowhead	School Supervision 1:1	2015-	\$ 20.19/hr	day 6
Flanagan	Cathleen	Arrowhead	Before/After School Supervision 1:1	2016	\$ 20.19/hr	hours/ day
Cariana	T:	A	Before/After School Supervision	2016	¢ 20 10 /k ::	hours/ day
Gavigan	Lisa	Arrowhead	1:1 Before/After School Supervision	2015- 2016	\$ 20.19/hr	6 hours/ day
Hoffman	Sharon	Arrowhead	1:1 Before/After School	2015- 2016	\$ 20.19/hr	6 hours/ day
Iannotto	Kim	Arrowhead	Supervision 1:1 Before/After School	2015- 2016	\$ 20.19/hr	6 hours/ day
Lewkowitz	Marisa	Arrowhead	Supervision 1:1 Before/After School	2015- 2016	\$ 20.19/hr	6 hours/
Ludwig	Cara	Arrowhead	Supervision 1:1 Before/After	2015- 2016	\$ 20.19/hr	day 6 hours/
Lukralle	Debbie	Arrowhead	School Supervision 1:1 Before/After	2015- 2016	\$ 20.19/hr	day 6 hours/
Manuud	Susan	Arrowhead	School Supervision 1:1 Before/After	2015- 2016	\$ 20.19/hr	day 6 hours/
Maggia-	Denise	Arrowhead	School Supervision 1:1	2015-	\$ 20.19/hr	day
como			Before/After School Supervision	2016		hours/ day
Maresco	Holly	Arrowhead	1:1 Before/After School	2015- 2016	\$ 20.19/hr	6 hours /day
Meigel	Geri	Arrowhead	Supervision 1:1 Before/After School	2015- 2016	\$ 20.19/hr	6 hours/ day
Nunziato	Jeanne	Arrowhead	Supervision 1:1 Before/After School	2015- 2016	\$ 20.19/hr	6 hours/ day
Palladino	Barbara	Arrowhead	Supervision 1:1 Before/After	2015- 2016	\$ 20.19/hr	6 hours/
Pav	Dawn	Arrowhead	School Supervision 1:1 Before/After	2015- 2016	\$ 20.19/hr	day 6 hours/
Rizzo	Marie	Arrowhead	School Supervision 1:1	2015-	\$ 20.19/hr	day 6
Saraceni	Angela	Arrowhead	Before/After School Supervision 1:1	2016 2015-	\$ 20.19/hr	hours/ day
Saraceiii	Aligela	Arrowneau	Before/After School Supervision	2016	\$ 20.19/III	hours/ day
Shecter	Susan	Arrowhead	1:1 Before/After School	2015- 2016	\$ 20.19/hr	6 hours/ day
Slavin	Carol	Arrowhead	Supervision 1:1 Before/After School	2015- 2016	\$ 20.19/hr	6 hours/ day
Spadaro	Michele	Arrowhead	Supervision 1:1 Before/After School	2015- 2016	\$ 20.19/hr	6 hours/ day
Stavrop- oulos	Christine	Arrowhead	Supervision 1:1 Before/After School	2015- 2016	\$ 20.19/hr	6 hours/ day
			Supervision			

Szymanski	Michelle	Arrowhead	1:1 Before/After School	2015- 2016	\$ 20.19/hr	6 hours/ day	
Walsh	Jenn	Arrowhead	Supervision 1:1 Before/After School	2015- 2016	\$ 20.19/hr	6 hours/ day	
Warren- Barbieri	Kathy	Arrowhead	Supervision 1:1 Before/After School	2015- 2016	\$ 20.19/hr	6 hours/ day	
West	Clair	Arrowhead	Supervision 1:1 Before/After School	2015- 2016	\$ 20.19/hr	6 hours/ day	
Wolcott	Valerie	Arrowhead	Supervision 1:1 Before/After School Supervision	2015- 2016	\$ 20.19/hr	6 hours/ day	
Alessi	Christian	Gelinas	Chaperone	2015-	\$ 42.12/hr		\$500.00
Aston	Monica	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Baron	Josh	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Boltrek	Chris-	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Bostwick	topher Ann	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Broadhurst	Janet	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Candreva	Candace	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Cappiello	Lisa	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Carlson	Deana	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Chase	Christine	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Connelly	Nicole	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Conrad	Lori	Gelinas	-	2016 2015-	\$ 42.12/hr		\$500.00
			Chaperone	2016			
Daguerre	Edward	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr		\$500.00
Del- Vecchio	Diane	Gelinas	Chaperone Chaperone	2015- 2016	\$ 42.12/hr		\$500.00
DePersio	Robert	Gelinas	1	2015- 2016	\$ 42.12/hr		\$500.00
DeRosa	Michael	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr		\$500.00
Domino	Emma	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr		\$500.00
Driscoll	Christina	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr		\$500.00
Ehlers	Tim	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr		\$500.00
Elliot	Doug	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr		\$500.00
Esser	Chris	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr		\$500.00
Fenster	Robert	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr		\$500.00
Fox	Teresa	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr		\$500.00
Fyfe	Matt	Gelinas	Chaperone	2015-	\$ 42.12/hr		\$500.00
Gerber	Monica	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Giles	Casey	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Glasheen	Rich	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Gobetz	Brianna	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Grippa	Christine	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Guarascio	Vicki	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Hanscom	Stanley	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Hartmann	William	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Hein	James	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Herrel	Kraig	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Jenkins	Nancy	Gelinas	Chaperone	2015- 2016 2015-	\$ 42.12/hr		\$500.00
	•		•	2016			
Jordan	Sean	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr		\$500.00

Kostis	Dean	Gelinas	Chaperone	2015-	\$ 42.12/hr	\$500.00
Krisa	Toni	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
La Bella	Wendy	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Leidahl	Laura	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Maletta	Alaina	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Malone	Lori	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Matros	Nicholas	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
McCrave	Terri	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
McNamara	Brendan	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Melnick	Kristen	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Milillo	Michael	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Monahan	Jennifer	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Muller	Gisela	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Murphy	Chris-	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Mutter	topher Dave	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
		Gelinas		2016		\$500.00
Nagle	Tina		Chaperone	2015- 2016	\$ 42.12/hr	
Ouzounian	Marisa	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr	\$500.00
Palmer	Lori	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr	\$500.00
Perotti	Jenna	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr	\$500.00
Perry	Leanne	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr	\$500.00
Preston	Kim	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr	\$500.00
Rabbitt	Alisa	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr	\$500.00
Raney	Anna Maria	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr	\$500.00
Rieckhoff	Daniel	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr	\$500.00
Rimmer	Keri Ann	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr	\$500.00
Roarty	Karen	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr	\$500.00
Rosenthal	Christine	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr	\$500.00
Sacco	Michael	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr	\$500.00
Salducco	Alex	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr	\$500.00
Santiago	Vicki	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr	\$500.00
Schievel- bein	Todd	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr	\$500.00
Schnettler	Garrett	Gelinas	Chaperone	2015-	\$ 42.12/hr	\$500.00
Schuchman	Peter	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Scripture	Brian	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Shaw	Jacqueline	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Stiegelmai	Kevin	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
er Swift	Kristen	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Traube	Gina	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Weiler	Christy	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Weiner	Ken	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Worthing-	Tom	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
ton Youngs	Tom	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Alaimo	Donna	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Alberici	Joann	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Axelsen	Kathleen	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Biegen	Linda	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
Carr	Cristina	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr	\$500.00
			•	2016		

Catizone	Christina	Gelinas	Chaperone	2015-	\$ 42.12/hr		\$500.00
Cowen	Jen	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
			•	2016			
Dolan	Jen	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr		\$500.00
Gluck	Christine	Gelinas	Chaperone	2015-	\$ 42.12/hr		\$500.00
Gulli	Cristina	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
			•	2016			
Lemanski	Lori	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr		\$500.00
Mohanty	Carolyn	Gelinas	Chaperone	2015-	\$ 42.12/hr		\$500.00
O'Connell	Irene	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
D - 4-4-	D:-11-	Calina	Charana	2016	¢ 42 12/1		¢500.00
Reduto	Daniella	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr		\$500.00
Renna	Danielle	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr		\$500.00
Scionti	Jessica	Gelinas	Chaperone	2015-	\$ 42.12/hr		\$500.00
Stursberg	Cathleen	Gelinas	Chaperone	2016 2015-	\$ 42.12/hr		\$500.00
Sursberg	Cauneen	Geillias	Chaperone	2015-	\$ 42.12/111		\$300.00
Valdes	Bobbi	Gelinas	Chaperone	2015- 2016	\$ 42.12/hr		\$500.00
Zeffiro	Laura	Gelinas	Chaperone	2015-	\$ 42.12/hr		\$500.00
				2016			
Alaimo	Donna	Gelinas	After School	2015-	\$20.19/hr		\$500.00
			Supervision	2016			
Alberici	Joann	Gelinas	After School Supervision	2015- 2016	\$20.19/hr		\$500.00
Axelsen	Kathleen	Gelinas	After School	2015-	\$20.19/hr		\$500.00
Biegen	Linda	Gelinas	Supervision After School	2016 2015-	\$20.19/hr		\$500.00
			Supervision	2016			
Carr	Cristina	Gelinas	After School Supervision	2015- 2016	\$20.19/hr		\$500.00
Catizone	Christina	Gelinas	After School	2015-	\$20.19/hr		\$500.00
Cowen	Jen	Gelinas	Supervision After School	2016 2015-	\$20.19/hr		\$500.00
D-1	T	Calina	Supervision	2016	¢20.10/l		¢500.00
Dolan	Jen	Gelinas	After School Supervision	2015- 2016	\$20.19/hr		\$500.00
Gluck	Christine	Gelinas	After School	2015-	\$20.19/hr		\$500.00
Gulli	Cristina	Gelinas	Supervision After School	2016 2015-	\$20.19/hr		\$500.00
Lemanski	Lori	Gelinas	Supervision After School	2016 2015-	\$20.19/hr		\$500.00
Lemanski	Lon	Geillias	Supervision	2015-	\$20.19/111		\$300.00
Mohanty	Carolyn	Gelinas	After School Supervision	2015- 2016	\$20.19/hr		\$500.00
O'Connell	Irene	Gelinas	After School	2015-	\$20.19/hr		\$500.00
Reduto	Daniella	Gelinas	Supervision After School	2016 2015-	\$20.19/hr		\$500.00
Reduto			Supervision	2016			
Renna	Danielle	Gelinas	After School Supervision	2015- 2016	\$20.19/hr		\$500.00
Scionti	Jessica	Gelinas	After School	2015-	\$20.19/hr		\$500.00
Stursberg	Cathleen	Gelinas	Supervision After School	2016 2015-	\$20.19/hr		\$500.00
			Supervision	2016			
Valdes	Bobbi	Gelinas	After School Supervision	2015- 2016	\$20.19/hr		\$500.00
Zeffiro	Laura	Gelinas	After School	2015-	\$20.19/hr		\$500.00
Fyfe	Matthew	Gelinas	Supervision Detention	2016 2015-	\$ 42.12/hr		\$2,000.00
•				2016			
Caldararo	Yvonne	Murphy	1:1 Student	2015-	\$ 20.19/hr	up to	\$ 202.70/
Culdululo	1 voime	marphy	Supervision	2016	ψ 20.15/III	10/hrs	month
						per month	
Caldwell	Juliana	Murphy	1:1 Student	2015-	\$ 20.19/hr	up to 10/	\$ 202.70/
			Supervision	2016		hrs per month	month
Connors	Jessica	Murphy	1:1 Student	2015-	\$ 20.19/hr	up to	\$ 202.70/
			Supervision	2016	+	10/hrs	month
						per month	
Dipierno	Susan	Murphy	1:1 Student	2015-	\$ 20.19/hr	up to	\$ 202.70/
			Supervision	2016		10/hrs per	month
F 1			1.10	2017	# <b>20</b> 10 "	month	A 202 52
Endres	Lisa	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	up to 10/hrs	\$ 202.70/ month
						per	
Gasparre	Angela	Murphy	1:1 Student	2015-	\$ 20.19/hr	month up to	\$ 202.70/
	J		Supervision	2016		10/hrs	month
						per month	

Liegi	Marissa	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	up to 10/hrs per	\$ 202.70/ month
Oliver	Vincent	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Primavera	Laura	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Westbrook	Kristen	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Woznicki	Lucyna	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Caldararo	Yvonne	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Caldwell	Juliana	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Connors	Jessica	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Dipierno	Susan	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Endres	Lisa	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Gasparre	Angela	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Liegi	Marissa	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Oliver	Vincent	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Primavera	Laura	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Westbrook	Kristen	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per month	\$421.20/ month
Woznicki	Lucyna	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per	\$421.20/ month
Anger- maier	Derek	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per month	\$ 202.70 month
Anzalone	Rick	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	up to 10/hrs per month	\$ 202.70/ month
Baker	Brian	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	up to 10/hrs per month	\$ 202.70/ month
Baron	Allison	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	up to 10/hrs per month	\$ 202.70/ month
Black	John	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	up to 10/hrs per month	\$ 202.70/ month
Blaney	Erin	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	up to 10/hrs per month	\$ 202.70/ month
Boysen	Theresa	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	up to 10/hrs per month	\$ 202.70/ month

Campbell	Peter	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	up to 10/hrs per	\$ 202.70/m onth
Caparco	Andrea	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Carroll	Frank	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/m onth
Cereola	Cristina	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Cifuni	Matthew	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70 /month
Cinque- mani	Taryn	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Damis	Jillian	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
DePersio	Dana	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Doepp	Sarah	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Domino	Emma	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Donovan	Carol	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70 /month
Duca	Anne- Marie	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Duffy	Cathy	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Ennis	Jessica	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Eve	Anne- Marie	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Esnes	Heather	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70 /month
Farley	Andrea	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Fernnandes	Charles	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Ferraro	Virginia	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Flanagan	Michael	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Garcia	Edwin	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Garcia	Suzanne	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Geoninatti	Emiliano	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per month	\$ 202.70/ month

Gessner	Robert	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	up to 10/hrs per	\$ 202.70/ month
Gilmore	Beverly	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Golini	Kerri	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70 /month
Haas	Robert	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Hanczor	Michelle	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ Month
Hughes	Julie	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ Month
Jackett	Bevin	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Jantzen	Michael	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Keenan	Susan	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Knox	Betsy	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Kollmeier	Lori	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Lacapria	Melissa	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Lauri	Debbie	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70/ month
Levenson	Melissa	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70/ month
Levy	Barbara	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70 /month
Mandel	Laurie	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70 /month
Marley	Elise	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70 /month
Marino	Laurence	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70/ month
Martellero- Shayew	Brenda	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70 /month
McGuire	Susan	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70/ month
McManus	Patrick	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	per month up to 10/hrs	\$ 202.70/ month
Meier	Brendan	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70/ month
Meiselbach	Karen	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	per month up to 10/hrs per	\$ 202.70/ month
						month	

Mottola	Jessica	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	up to 10/hrs per	\$ 202.70/ month
Mulham	Corinne	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70 /month
Nachtigall	Dawn	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Negron	Sylvia	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Neuberger	John	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Pahuja	Pamila	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70/ month
Pickford	Brian	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70/ month
Pollera	Anthony	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70/ month
Portal- Pfeffer	Lolita	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70/ month
Poulos	Amy	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70/ month
Preston	Kim	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70 /month
Propper	Kim	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70/ month
Rakowsky	Debbi	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70/ month
Raspler	Laurie	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs	\$ 202.70/ month
Rendon	Isabel	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	per month up to 10/hrs	\$ 202.70/ month
Rippe	Vincenza	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	per month up to 10/hrs	\$ 202.70 /month
Schievel- bien	Todd	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	per month up to 10/hrs	\$ 202.70/ month
Sihler	Kevin	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	per month up to 10/hrs	\$ 202.70/
Strub	John	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	per month up to 10/hrs	month \$ 202.70/ month
Treder	Brian	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	per month up to 10/hrs	\$ 202.70/ month
Trentini	Christine	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	per month up to 10/hrs	\$ 202.70/ month
Trettner	Jenn	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	per month up to 10/hrs	\$ 202.70/ month
Trinidad	Margaret	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	per month up to 10/hrs per month	\$ 202.70/ month
						month	

Valenzano	William	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	up to 10/hrs per	\$ 202.70/ month
Vetro	Rocco	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Visser	Jillian	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per	\$ 202.70/ month
Zeller	Joan	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per month	\$ 202.70/ month
Anger- maier	Derek	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per	\$421.20/ month
Anzalone	Rick	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Baker	Brian	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Baron	Allison	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Black	John	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Blaney	Erin	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Boysen	Theresa	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Campbell	Peter	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Caparco	Andrea	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per month	\$421.20/ month
Carroll	Frank	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Cereola	Cristina	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Cifuni	Matthew	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Cinque- mani	Taryn	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Damis	Jillian	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
DePersio	Dana	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Doepp	Sarah	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Domino	Emma	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Donovan	Carol	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month

Duca	Anne- Marie	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per	\$421.20/ month
Duffy	Cathy	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per month	\$421.20/ month
Ennis	Jessica	Murphy	Chaperone/S tudent Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Eve	Anne- Marie	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Esnes	Heather	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Farley	Andrea	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Fernandes	Charles	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Ferraro	Virginia	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Flanagan	Michael	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Garcia	Edwin	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Garcia	Suzanne	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Geoninatti	Emiliano	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Gessner	Robert	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Gilmore	Beverly	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Golini	Kerri	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Haas	Robert	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Hanczor	Michelle	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Hughes	Julie	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Jackett	Bevin	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Jantzen	Michael	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Keenan	Susan	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Knox	Betsy	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month

Kollmeier	Lori	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per	\$421.20/ month
Lacapria	Melissa	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per month	\$421.20/ month
Lauri	Debbie	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Levenson	Melissa	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Levy	Barbara	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Mandel	Laurie	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Marley	Elise	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Marino	Laurence	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Martellero- Shayew	Brenda	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
McGuire	Susan	Murphy	Chaperone// Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
McManus	Patrick	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Meier	Brendan	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Meiselbach	Karen	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Mottola	Jessica	Murphy	Chaperone /Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Mulham	Corinne	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Nachtigall	Dawn	Murphy	Chaperone/ Student Supervision	2015-2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Negron	Sylvia	Murphy	Chaperone/ Student Supervision	2015-2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Neuberger	John	Murphy	Chaperone/ Student Supervision	2015-	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Pahuja	Pamila	Murphy	Chaperone/ Student Supervision	2015-2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Pickford	Brian	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Pollera	Anthony	Murphy	Chaperone/ Student Supervision	2015-2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Portal- Pfeffer	Lolita	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month

Poulos	Amy	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per	\$421.20/ month
Preston	Kim	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per	\$421.20/ month
Propper	Kim	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	month up to 10/hrs per month	\$421.20/ month
Rakowsky	Debbi	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Raspler	Laurie	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Rendon	Isabel	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Rippe	Vincenza	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Schievel- bien	Todd	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Sihler	Kevin	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Strub	John	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Treder	Brian	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Trentini	Christine	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/mon th
Trettner	Jenn	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Trinidad	Margaret	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Valenzano	William	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Vetro	Rocco	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Visser	Jillian	Murphy	Chaperone /Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Zeller	Joan	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Careccia	Lesa	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Gold- macher	Jacqueline	Murphy	Chaperone /Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
White	Angela	Murphy	Chaperone/ Student Supervision	2015- 2016	\$ 42.12/hr	up to 10/hrs per month	\$421.20/ month
Careccia	Lesa	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	up to 10/hrs per month	\$ 202.70 /month

Goldmacher	Jacque- line	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	up to 10/hrs per	\$ 202.70 /month
White	Angela	Murphy	1:1 Student Supervision	2015- 2016	\$ 20.19/hr	month up to 10/hrs per month	\$ 202.70 /month
Booker	Karen	Minnesauke	1:1 Supervision Before/ After School	2015- 2016	\$ 20.19/hr	4 hrs per event	
DeSantis	Christina	Minnesauke	1:1 Supervision Before/ After School	2015- 2016	\$ 20.19/hr	4 hrs per event	
Gluck	Christine	Minnesauke	1:1 Supervision Before/After School	2015- 2016	\$ 20.19/hr	4 hrs per event	
Peterson	Jeanne	Minnesauke	1:1 Supervision Before/	2015- 2016	\$ 20.19/hr	4 hrs per event	
Vaccaro	Carol	Minnesauke	After School 1:1 Supervision Before/	2015- 2016	\$ 20.19/hr	4 hrs per event	
Booker	Karen	Minnesauke	After School Before/ After School Chaperon-	2015- 2016	\$ 42.12/hr	4 hrs per event	
DeSantis	Christina	Minnesauke	ing Before/ After School Chaperon-	2015- 2016	\$ 42.12/hr	4 hrs per event	
Gluck	Christine	Minnesauke	ing Before/ After School Chaperon-	2015- 2016	\$ 42.12/hr	4 hrs per event	
Peterson	Jeanne	Minnesauke	ing Before/ After School Chaperon-	2015- 2016	\$ 42.12/hr	4 hrs per event	
Vaccaro	Carol	Minnesauke	ing Before/ After School Chaperoning	2015- 2016	\$ 42.12/hr	4 hrs per event	
Morabito	Bridget	WMHS	Inspect and Prepare Science Lab Equipment	9/1/2015	Regular Rate of Pay - \$ 20.05/hr	7 hours	\$140.35
Bayles	Tanya	WMHS	1:1 Supervision Before/	2015- 2016	\$ 20.03/hr \$ 20.19/hr	20	\$405.00
Brous	Gen	WMHS	After School 1:1 Supervision Before/	2015- 2016	\$ 20.19/hr	20	\$405.00
Burger	Susan	WMHS	After School 1:1 Supervision Before/	2015- 2016	\$ 20.19/hr	20	\$405.00
Candella	Laura	WMHS	After School 1:1 Supervision Before/	2015- 2016	\$ 20.19/hr	20	\$405.00
Conrad	Chelsea	WMHS	After School 1:1 Supervision Before/	2015- 2016	\$ 20.19/hr	20	\$405.00
Cross	Stacy	WMHS	After School 1:1 Supervision Before/	2015- 2016	\$ 20.19/hr	20	\$405.00
Dion	JP	WMHS	After School 1:1 Supervision Before/	2015- 2016	\$ 20.19/hr	20	\$405.00
Donohue	Kaitlin	WMHS	After School 1:1 Supervision Before/	2015- 2016	\$ 20.19/hr	20	\$405.00
Drosselmier	Theresa	WMHS	After School 1:1 Supervision Before/	2015- 2016	\$ 20.19/hr	20	\$405.00
Faraci	Maria	WMHS	After School 1:1 Supervision Before/ After School	2015- 2016	\$ 20.19/hr	20	\$405.00

Ferraro	John	WMHS	1:1 Supervision	2015- 2016	\$ 20.19/hr	20	\$405.00
Goldberg	Annette	WMHS	Before/ After School 1:1 Supervision	2015- 2016	\$ 20.19/hr	20	\$405.00
Hurley	Terri	WMHS	Before/ After School 1:1 Supervision	2015- 2016	\$ 20.19/hr	20	\$405.00
Koehler	Donna	WMHS	Before/ After School 1:1 Supervision	2015- 2016	\$ 20.19/hr	20	\$405.00
Kowalenko	Randi	WMHS	Before/ After School 1:1	2015- 2016	\$ 20.19/hr	20	\$405.00
Lamonica	Maryann	WMHS	Supervision Before/ After School 1:1	2015-	\$ 20.19/hr	20	\$405.00
Liguori	Christine	WMHS	Supervision Before/ After School 1:1	2016	\$ 20.19/hr	20	\$405.00
Lumley	Marissa	WMHS	Supervision Before/ After School 1:1	2016	\$ 20.19/hr	20	\$405.00
·			Supervision Before/ After School	2016		20	
Malone	Laura	WMHS	1:1 Supervision Before/ After School	2015- 2016	\$ 20.19/hr		\$405.00
Metcalf	Marilyn	WMHS	1:1 Supervision Before/ After School	2015- 2016	\$ 20.19/hr	20	\$405.00
Muldoon	Donald	WMHS	1:1 Supervision Before/ After School	2015- 2016	\$ 20.19/hr	20	\$405.00
Pryor	Lisa	WMHS	1:1 Supervision Before/ After School	2015- 2016	\$ 20.19/hr	20	\$405.00
Rupe	Alison	WMHS	1:1 Supervision Before/	2015- 2016	\$ 20.19/hr	20	\$405.00
Swain	Christine	WMHS	After School 1:1 Supervision Before/	2015- 2016	\$ 20.19/hr	20	\$405.00
Weganaar	Nancy	WMHS	After School 1:1 Supervision Before/	2015- 2016	\$ 20.19/hr	20	\$405.00
Williams	Louise	WMHS	After School 1:1 Supervision Before/	2015- 2016	\$ 20.19/hr	20	\$405.00
Yasson	Carol	WMHS	After School 1:1 Supervision Before/	2015- 2016	\$ 20.19/hr	20	\$405.00
Chesney- Gold	Alyssa	WMHS	After School FBLA National Conference	6/29/15- 7/1/15	\$ 150/night \$ 300/day	2 nights, 3 days	\$1,200.00
Vonnes	Carol	WMHS	FBLA National	6/29/15- 7/1/15	\$ 150/night \$ 300/day	2 nights,	\$1,200.00
Vecchio  AIS Services	Jennifer	Setauket	Conference Professional Development Workshop - Classroom Management through Positive Language and Choice Theory	5/14/15 & 5/28/15	\$ 72.18/hr	3 days 6	\$433.14
Boltrek	Chris	3V Academy	AIS Services  – Odyssey-	2015- 2016	\$ 54.81/hr	10	\$548.10
DiFede	Christine	3V Academy	ware AIS Services - Odyssey- ware	2015- 2016	\$ 54.81/hr	10	\$548.10

Fischer	Andrea	3V Academy	AIS Services  Odyssey-	2015- 2016	\$ 54.81/hr	10	\$548.10
Rochford	Lisa	3V Academy	ware AIS Services - Odyssey-	2015- 2016	\$ 54.81/hr	10	\$548.10
Sterne	Ira	3V Academy	ware AIS Services - Odyssey- ware	2015- 2016	\$ 54.81/hr	10	\$548.10
Zeidman	Stacey	3V Academy	AIS Services  – Odyssey- ware	2015- 2016	\$ 54.81/hr	20	\$1,096.20
Curriculum Wi	riting		ware				
Lamiroult	Brenda	North	TVTA-	2015-	\$ 47.39/hr	6	\$284.34
Reinhart	Claudia	Country North	APPR	2016 2015-	\$ 47.39/hr	6	¢294 24
Kemmart	Ciaudia	Country	TVTA- APPR	2015-	\$ 47.39/III	0	\$284.34
Weistein	Robyn	Nassakeag	TVTA- APPR	2015- 2016	\$ 47.39/hr	6	\$284.34
Adult Education	<u>n</u>		AIIK	2010			
Pennega	Dennis	WMHS	Digital	Fall/Win	\$240 (\$20	12	
Pennega	Dennis	WMHS	Photography Portrait	ter 2015 Fall/Win	p/h) \$200 (\$20	10	
-			Photography	ter 2015	p/h)		
Kelly- Edmunds	Anne	WMHS	Do the Write Thing	Fall/Win ter 2015	\$300 (\$30 p/h)	10	
DeSantis	Vincent	WMHS	Living Long Term	Fall/Win ter 2015	No Pay- Community Service	2	
Toga	Linda M.	WMHS	A Trust or A Will: Which is Right for You?	Fall/Win ter 2015	\$60 (\$20 p/h)	3	
DiSalvo	S. Joseph	WMHS	Retirement Planning Today <sup>TM</sup>	Fall/Win ter 2015	\$100 (\$20 p/h)	5	
Silverman	Jeffrey	WMHS	Keep Income Flowing During	Fall/Win ter 2015	\$40 (\$20 p/h)	2	
Silverman	Jeffrey	WMHS	Retirement Life Planning for Children with Special	Fall/Win ter 2015	\$40 (\$20 p/h)	2	
Smith	George Ellswort h	WMHS	Needs Annuities and Your Retirement	Fall/Win ter 2015	\$30 (\$20 p/h)	1.5	
Smith	George Ellswort h	WMHS	Foundations of Investing	Fall/Win ter 2015	\$30 (\$20 p/h)	1.5	
Smith	George Ellswort h	WMHS	Roll It, Take It, Leave It, Move It	Fall/Win ter 2015	\$30 (\$20 p/h)	1.5	
Smith	George Ellswort h	WMHS	Preparing Your Estate Plan	Fall/Win ter 2015	\$30 (\$20 p/h)	1.5	
Smith	George Ellswort h	WMHS	Social Security: Your Questions	Fall/Win ter 2015	\$30 (\$20 p/h)	1.5	
Smith	George Ellswort h	WMHS	Answered Roth IRA's and	Fall/Win ter 2015	\$30 )\$20 p/h)	1.5	
Yantz	Patricia	WMHS	Retirement Colored Pencil and Pastel Techniques	Fall/Win ter 2015	\$180 (\$20 p/h)	9	
Yantz	Patricia	WMHS	Exploring Painting Techniques	Fall/Win ter 2015	\$200 (\$ 20 p/h)	10	
Quattrone	Anthony	WMHS	Woodcarvin g: Ornament & Figure	Fall/Win ter 2015	\$320 (\$20 p/h)	16	
Napoli	Frank	WMHS	Carving Woodcarvin g for the Beginner &	Fall/Win ter 2015	\$320 (\$20 p/h)	16	
Bartunek	Alberta	WMHS	Novice Crocheting -	Fall/Win	\$30 (\$20	1.5	
Bartunek	Alberta	WMHS	Ruffle Scarf Crocheting -	ter 2015 Fall/Win	p/h) \$120 (\$20	6	
			Beginners	ter 2015	p/h)		
Parisi	Michael	WMHS	Oil and Acrylic Landscapes	Fall/Win ter 2015	\$320 (\$20 p/h)	16	
Ricca	Laura	WMHS	Pastel Portraits	Fall/Win ter 2015	\$240 (\$20 p/h)	12	
Caiati	Debbie	WMHS	Mah Jongg	Fall/Win ter 2015	\$320 (\$20 p/h)	16	

Pennega	Dennis	WMHS	Songwriting 101	Fall/Win ter 2015	\$240 (\$20 p/h)	12
Gargiulo	Arleen	WMHS	Let's Have Fun Singing	Fall/Win ter 2015	\$60 (\$20 p/h)	3
Gargiulo	Arleen	WMHS	How to Sing in Three Easy	Fall/Win ter 2015	\$60 (\$20 p/h)	3
Rogers	Ken	WMHS	Lessons Gardening Basics	Fall/Win ter 2015	\$280 (\$20 p/h)	14
Rogers	Arlene	WMHS	Machine Quilting -	Fall/Win ter 2015	\$320 (20 p/h)	16
Rogers	Arlene	WMHS	Beginners Machine Quilting -	Fall/Win ter 2015	\$320 (\$20 p/h)	16
Holmes	Jeanette	WMHS	Intermediate Knitting - Beginners	Fall/Win ter 2015	\$120 (\$20 p/h)	6
Gerard	Maria	WMHS	Spanish for the Traveler	Fall/Win ter 2015	\$630 (\$20 p/h)	31.5
Foti / Mike Ryan, First Aid Depot	Joe	WMHS	Adult/Child/I nfant CPR/AED	Fall/Win ter 2015	VENDOR \$450	3
Weilbacher	Eileen	WMHS	Combining Food for Maximum Digestion & Absorption	Fall/Win ter 2015	\$120 (\$20 p/h)	6
Match	Robert	WMHS	Basic Home Repairs	Fall/Win ter 2015	\$240 (\$20 p/h)	12
Gilbert	Pamela	WMHS	Conquer Your Clutter with Feng Shui	Fall/Win ter 2015	\$90 (\$20 p/h)	4.5
Gilbert	Pamela	WMHS	Power of Essential Oils and Aromatherap	Fall/Win ter 2015	\$60 (\$20 p/h)	3
Magic	Dance	WMHS	y Salsa Dancing	Fall/Win ter 2015	Vendor \$600 (\$40pp)	8
Magic	Dance	WMHS	Ballroom, Latin and Swing Dancing	Fall/Win ter 2015	Vendor \$800 (\$40pp)	8
Cheeseman / Martin White	Ellen	WMHS	Country Western Line Dance- Beginners	Fall/Win ter 2015	Ellen \$240.00; (if enrollment permits Martin \$240.00)	12
Cheeseman / Martin White	Ellen	WMHS	Country Western Dance: Couples/Part ners	Fall/Win ter 2015	Ellen \$240.00; (if enrollment permits Martin \$240.00)	12
Danette Gallogly	Creative Voices	WMHS	Getting Paid to Talk: Introduction to Professional	Fall/Win ter 2015	Vendor \$87.50	2.5
Horney, D.C.	Michael S.	WMHS	Voice Overs Intro to Hypnosis	Fall/Win ter 2015	\$20 (\$20 p/h)	1
Horney, D.C.	Michael S.	WMHS	Weight Loss	Fall/Win ter 2015	\$20 (\$20 p/h)	1
Bradley	Robert	WMHS	Alexander Technique-&	Fall/Win ter 2015	\$120 (\$20 p/h)	6
Mazeau	Sue	WMHS	Brainwork Aerobics - Afternoon	Fall/Win ter 2015	\$480 (\$30 p/h)	16
Mazeau	Sue	WMHS	Aerobics - Evening	Fall/Win ter 2015	\$480 (\$30 p/h)	16
Reass	Marcia	WMHS	YOGA	Fall/Win ter 2015	\$218.75 (\$35 p/h)	6.25
Cotty	Hugh (Jim)	WMHS	Volleyball- Bump, Set,	Fall/Win ter 2015	\$495 (\$30 p/h)	16.5
Reass	Marcia	WMHS	Spike! Mindfulness Meditation	Fall/Win ter 2015	\$87.50 (\$35 p/h)	2.5
Magic Ballroom	Dance	WMHS	Zumba	Fall/Win ter 2015	Vendor \$720 (\$48 PP)	8

Mazeau	Sue	WMHS	Winter Aerobics AFT	Fall/Win ter 2015	\$360 (\$30 p/h)	12
Mazeau	Sue	WMHS	Winter Aerobics - PM	Fall/Win ter 2015	\$360 (\$30 p/h)	12

# APPOINTMENTS OF SUMMER ASSIGNMENTS

<u>Last Name</u>	First Name	Building	Assignment	Effe- ctive	Rate	Hours	Not to Exceed
AIS Services Aweh	Michelle	WMHS	Review	Aug-15	\$54.81/HR	10	\$548.10
			Class/Proctor/ Grading Aug RE 2015		***************************************		
Baron	Josh	WMHS	Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	20	\$1,096.20
Burton	Sean	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
Dunbar	Kristin	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	20	\$1,096.20
Edgar	Virginia	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
Forese	Liz	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
Franco	Cheryl	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
Goldberg	Mary	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
Gorman	Mary	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
Hovland	Lynn	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
Iacomino	Lucrezia	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
Maier	Michelle	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
McCaffrey	Virginia	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	20	\$1,096.20
McNeil	Brian	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
Milano	John	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
Mintz	Barbara	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
Pomerantz	Linda	WMHS	RE 2015 Review Class/Proctor/ Grading Aug RE 2015	Aug-15	\$54.81/HR	10	\$548.10
Pomerantz	Dan	WMHS	Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
Powers	Valerie	WMHS	RE 2015 Review Class/Proctor/ Grading Aug RE 2015	Aug-15	\$54.81/HR	10	\$548.10

Preuss	Mary Ann	WMHS	Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
Schoen	Brian	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	20	\$1,096.20
Snyder	Sharon	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
Taliercio	Kim	WMHS	RE 2015 Review Class/Proctor/ Grading Aug	Aug-15	\$54.81/HR	10	\$548.10
Tamadon	Arta	WMHS	RE 2015 Review Class/Proctor/ Grading Aug RE 2015	Aug-15	\$54.81/HR	20	\$1,096.20
Vonnes	Carol	WMHS	Review Class/Proctor/ Grading Aug RE 2015	Aug-15	\$54.81/HR	10	\$548.10
<u>Stipends</u>							
Taldone	Cathy	North Country	Title IIA - Prepare 2015- 2016 NYSED NCLB Grant Application and reports. Work on final program evaluation and fiscal reports for all grants	7/1/15- 8/31/15	Per diem salary rate up to 15 days		\$11, 602.00
*** This was	s originally bo	ard approved o	on 6/3/15 for \$ 11,2	250.00 which	did not reflect th	ns year's n	icrease.
Chaperone/S	upervision						
Iannotto	James	WMHS	Chaperone/Ov ernight Band Camp in Pine Forest Camp,	8/27/15 - 8/30/15	\$ 150/night	3 nights	\$ 450.00
Iannotto	James	WMHS	PA Chaperone/Ov ernight Band Camp in Pine Forest Camp,	8/27/15 - 8/30/15	\$ 300/day	4 days	\$1,200.00
*** Mr. Ianı 8/27/15. Summer Enri	**	oved for emer	PA gency appointment	by Ms. Pedis	sich on 8/13/15	to begin w	orking on
Visser	Jillian	Minne-	Science	7/6/15 -	\$ 25/hr	7	\$125.00
** Ms. Vissoneeded. ESY Program		sauke lly approved fo	Olympiad or 32 hours, but 39	7/17/15 were			
Alexander	Dawn	Mount	ESY Program - Teacher	8/17/2015			\$ 285/day
DeLorenzo	Heather	Mount	ESY Program	8/18/2015 8/17/2015			\$ 285/day
Florio	Christina	Mount	- Teacher  ESY Program - Teacher	8/18/2015 8/17/2015			\$ 285/day
McCaffrey	Virginia	Mount	ESY Program - Teacher	8/18/2015 8/17/2015			\$ 285/day
Murolo	Nancy	Mount	- Teacher  ESY Program - Teacher	8/18/2015 8/17/2015			\$ 285/day
Vecchio	Jennifer	Mount	ESY Program - Teacher	8/18/2015 8/17/2015			\$ 285/day
Zeidman	Stacey	Mount	ESY Program - Teacher	8/18/2015 8/17/2015 -			\$ 285/day
**The above	teachers were	approved by	Ms. Pedisich on 8/	8/18/2015 7/15 to begin	working on 8/17	7/15.	
Summer Wo	<u>rk</u>						
Ambrose	Donald	WMHS	Summer Work - AP Work, Moving Supplies & Equipment due to Construction	July 6 & August 17, 2015		Daily Rate	2 days

Brecht	Liz	WMHS	Summer Work - Inventory, Textbooks, and	July 2 & 22, 2015	Daily Rate	2 days
Cadolino	Joanna	Gelinas	Scheduling Summer Work - Exam Analysis, Incoming Student Testing, Staffing Updates, etc.	July 21, August 6, 11, 20, & 24, 2015	Daily Rate	3 days (includes 4 - half days)
Duffy	Cathy	Murphy	Summer work - Incoming Student Testing, AIS, Reading Teachers' Schedules, Ordering Materials, Inventory, etc.	August 3, 11, 18, & 19, 2015	Daily Rate	4 days
Golini	Kerri	Murphy	Summer Work - Interviewing, Inventory, Contacting Parents, Textbooks, etc.	July 20, 22, & August 10, 2015	Daily Rate	3 days
Golini	Kerri	Gelinas	Summer Work	August	Daily	1 day
Kost	Maureen	Elemen- tary	Summer Work - Interviewing for Elementary PE	12, 2015 July 28 & 29, 2015	Rate Daily Rate	14 hours
Kost**	Maureen	WMHS	Summer Work - Interviewing, Proctor Exam, Schedule Changes, etc.	July 1 & 14, 2015	Daily Rate	5.25 hours
Kula	Marnie	WMHS	Summer Work - Interviews, Inventory, Ordering Supplies, Syllabus, etc.	July 1, 7, & 13, 2015	Daily Rate	3 days
McAuliffe	Brian	WMHS	Summer Work - Interviews, Inventory, Ordering Supplies, Syllabus, etc.	July 8, 13, 17, & 30, 2015	Daily Rate	3 days (includes 2 - half days)
McManus	Patrick	Murphy	Summer Work - Interviews, Chemical Inventory, Organize & Setup Offices	July 1, 7, 13, and 20, 2015	Daily Rate	4 days
McNamara	Laura	Gelinas	Summer Work - Exam Analysis, Incoming Student Testing, Staffing Updates, 7th grade walk	July 20, 31, August 12, 18, & 20, 2015	Daily Rate	5 days
Trettner	Jennifer	Gelinas	through, etc. Summer Work - Interviews, Inventory, 7th Grade Walk Through	July 20, 2015	Daily Rate	1 day
Trettner	Jennifer	WMHS	Summer Work - Interviews, Inventory, Ordering Supplies, Syllabus, etc.	July 20, 27, & August 3, 2015	Daily Rate	3 days
Vetro	Rocco	Murphy	Synabus, etc. Summer Work - Parent Calls & Emails, Algebra Project for Students	July 20, 27, & August 16, 2015	Daily Rate	3 days

Vorwald	Gary	Gelinas	Summer Work - Exam Analysis, Incoming Student Testing, Staffing Updates, etc.	July 2, 20, August 17, 18, & 28, 2015		Daily Rate	5 days
**Half day	+ 2 hours based	d on 6.5 hour o	<u>lay</u>				
Knox	Betsy	WMHS	Summer Work-Library Books/ Shelving Layout	8/20 & 8/21	Hourly Rate	15 hours	
Connelly	Nicole	Gelinas	Summer Work-Library Books/ Shelving Layout	8/20 & 8/21	Hourly Rate	35 hours	
Curriculum	Writing						
Alexander	Dawn	Arrow- head	Crisis Positive Intervention Workshop	7/14 & 7/21/2015	\$ 47.39/hr	13	\$616.07
Marino	Laurance	Arrow- head	Crisis Positive Intervention Workshop	7/14 & 7/21/2015	\$ 47.39/hr	13	\$616.07
** This is a	correction to t	he original bo	ard approval on 7/2	7/15. The date	of 7/21 was ad	ded and the	e hours were
increased.							
Lynch	Mary	North Country	Three Village Academy	7/8/15 - 8/15/15	\$788.21/day	3 days	\$2,345.01
Ross	Lori	North Country	Three Village Academy	7/8/15 - 8/15/15	\$329.73/day	4 days	\$791.37
Zeidman	Stacey	North Country	Three Village Academy	7/8/15 - 8/15/15	\$513.88/day	3 days	\$1,530.15
Golini	Kerri Ann	District Wide	ESL/Part 154	July/Augu st	\$685.07/ day	12	\$8,220.84
		the original bo	oard approval on 7/	7/15. The cor		mounts ori	ginally used
wara from le							

were from last year.

On motion by Mrs. Gische, seconded by Mr. Kornreich, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Non-Instructional

Upon the recommendation of the Superintendent of Schools be it RESOLVED that the Three Village Board of Education approve the non-instructional personnel items as described in the schedules listed below:

### RETIREMENT

<u>Name</u> Guerrin, Penny		<u>Sective Date</u> 17/15	Years of Service 17 yrs. 10 mo.
	RESIGNATIO	NS	
Bogdanski, Carolyn	Mount Elementary School / Special Education Aide	8/27/15	8 yrs. 11 mo.
Cawley, Patricia	Murphy Junior High School / Special Education Aide	8/20/15	1 yr.
Fazal, Farzana	Murphy Junior High School / Part-time Food Service Worker	7/24/15	4 yrs. 2 mo.
Forzano, Corinne	Murphy Junior High School / Special Education Aide	8/21/15	7 yrs. 10 mo.
Isaksen, Kristofer	Mount ES SACC Program / Child Care Assistant	7/3/15	2 yrs. 6 mo.
Lemanski, Lori	The Laurel Hill School / Special Education Aide	8/1/15	5 mo.
Murawski, Rosemary	Minnesauke Elementary School Part-time Food Service Worker		7 yrs. 10 mo.
Seferian, Sara	Mount ES SACC Program / Child Care Assistant	8/5/15	6 mo.
Williams, Donna	Mount ES SACC Program / Child Care Assistant	8/8/15	17 yrs. 7 mo.

#### APPOINTMENT TO NON-INSTRUCTIONAL ADMINISTRATIVE POSITION

O'Hagan, James Director of Facilities III

Maintenance & Operations Replacing: Kenneth Gray Related to current employee: No Annual Salary: \$112,437 Effective: August 24, 2015

Mr. O'Hagan was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance has been received and is on file.

#### APPOINTMENTS TO NON-INSTRUCTIONAL POSITIONS

Clerical

Carrero, Nancy

10.5 month Clerk Typist (Step 6/Level 1) Setauket Elementary School Replacing: Fran Padrazo (reassigned) Related to current employee: No Annual Salary: \$35,034 Effective: August 25, 2015

Ms. Carrero was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance has been received and is on file.

12 month Senior Clerk Typist (Step 6/Level 3) Koyles, Luann

Child Nutrition Office Replacing: Maura McMullin (reassigned) Related to current employee: No

Annual Salary: \$42,924 prorated Effective: August 27, 2015

Ms. Koyles was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance

has been received and is on file.

Ninia, Evelvn

Part-time Clerk/Typist Continuing Education Program Replacing: Mary Ficarola (resigned)

Salary: \$11.88 hourly Effective: August 27, 2015

Ms. Ninia was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance has

been received and is on file.

Monitors/Special Education Aides

Aiello, Regina

Special Education Aide (6.25 hours/day) Murphy Junior High School Replacing: Patricia Cawley (resigned) Related to current employee: No Salary: \$13.59/hourly (Step 1/ Level 12) Annual Stipend: \$700.00 prorated

Effective: August 31, 2015

Ms. Aiello is currently a substitute Food Service Worker and Substitute monitor/Special Education Aide in the district. She was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance has been received and is on file.

Cash, Louise Special Education Aide (6.0 hours/day)

Setauket Elementary School

Replacing: Pamela Ehrlich (reassigned) Related to current employee: No Salary: \$13.59/hourly (Step 1/ Level 11) Annual Stipend: \$700.00 prorated Effective: August 31, 2015

Ms. Cash was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance has been received and is on file.

Monitor (3.5 hours/day) Fontana-Daguerre, Romi

Minnesauke Elementary School Replacing: Penny Guerrin (retired) Related to current employee: Yes Salary: \$13.59/hourly (Step 1/ Level 3)

Effective: August 31, 2015

Ms. Fontana-Daguerre was emergency appointed by Cheryl Pedisich, Superintendent of Schools. She is the wife of Edward Fontana-Daguerre, a teacher at Gelinas Junior High School. Fingerprinting clearance has been received and is on file.

Special Education Aide (4.0 hours/day) The Laurel Hill School Forte, Anne

Replacing: Paula Phillips (reassigned) Related to current employee: No Salary: \$13.59/hourly (Step 1/ Level 4) Annual Stipend: \$700.00 prorated Effective: September 3, 2015

Ms. Forte was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance has been received and is on file.

Randazzo, Donna Special Education Aide (4.5 hours/day)

The Laurel Hill School New Position

Related to current employee: Yes Salary: \$13.59/hourly (Step 1/ Level 6) Annual Stipend: \$700.00 prorated Effective: August 31, 2015

Ms. Randazzo was emergency appointed by Cheryl Pedisich, Superintendent of Schools. She is the sister-in-law of Dino Amatulle, a teacher at Minnesauke Elementary School. Fingerprinting clearance has been received and is on file.

Romeo, Stacey

Special Education Aide (3.5 hours/day) Minnesauke Elementary School Replacing: Joan Punzone (resigned) Related to current employee: No Salary: \$13.59/hourly (Step 1/ Level 3) Annual Stipend: \$700.00 prorated Effective: August 31, 2015

Ms. Romeo was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance has been received and is on file.

Schneider, Jennifer Monitor (3.5 hours/day)

Mount Elementary School Replacing: Diane Sigillo (resigned) Related to current employee: No Salary: \$13.59/hourly (Step 1/ Level 3)

Effective: August 31, 2015

Ms. Schneider was emergency appointed by Cheryl Pedisich, Superintendent of Schools. She is currently a substitute Teaching Assistant and substitute monitor/Special Education Aide in the District. Fingerprinting clearance has been received and is on file.

Squatrito, Jessica Special Education Aide (6.0 hours/day)

Setauket Elementary School Replacing: Peggy Kollmeier (reassigned) Related to current employee: No Salary: \$13.59/hourly (Step 1/ Level 11) Annual Stipend: \$700.00 prorated Effective: August 31, 2015

Ms. Squatrito was emergency appointed by Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance has been received and is on file.

#### School-Aged Child Care (SACC)

Helenek, Lynda Child Care Assistant (max 15 hrs/week)

Arrowhead Elementary School

New Position

Related to current employee: No Salary - \$13.40 hourly (Step 1/Level 1) Effective – September 3, 2015

Ms. Helenek was emergency appointed by Cheryl Pedisich, Superintendent of Schools. She is currently a Special Education Aide at Arrowhead Elementary School. Fingerprinting clearance has been received and is on file.

### **CHANGES OF STATUS**

#### Custodial

Luhrs, David

From: Groundskeeper (Step 12/Level 9) To: "Acting" Maintenance Mechanic II (Step 12/Level 11)

Maintenance

Annual Salary: \$75,082 (prorated)

Effective: July 1, 2015

Mr. Luhrs assumed the role of "Acting" Maintenance Mechanic II due to the absence of James Torre.

Luhrs, David From: "Acting" Maintenance Mechanic II (Step 12/Level

> To: Groundskeeper (Step 12/Level 9) Grounds

Annual Salary: \$64,635 (prorated)

Effective: August 31, 2015

Mr. Luhrs assumed the role of "Acting" Maintenance Mechanic II due to the absence of James Torre. He is returning to his previous position.

#### Monitors/Special Education Aides

Bernabo, Ellen From: Special Education Aide (Step 2/Level 9)

North Shore Montessori

To: Special Education Aide (Step 2/Level 11) The Laurel Hill School

Effective: September 3, 2015

Ceroni, Jenna From: Special Education Aide (Step 2/Level 11)

The Laurel Hill School

To: Special Education Aide (Step 2/Level 13)

Ward Melville High School Effective: September 2, 2015

David, Lindsey From: Special Education Aide (Step 2/Level 10)

To: Special Education Aide (Step 2/Level 13) Ward Melville High School

Effective: September 2, 2015

From: Special Education Aide (Step 2/Level 10) To: Special Education Aide (Step 2/Level 11) Gensinger, Maryann

Arrowhead Elementary School Effective: September 2, 2015

Inzone, Tara From: Special Education Aide (Step 1/Level 7)

North Shore Montessori

To: Special Education Aide (Step 1/Level 13) Ward Melville High School Effective: September 2, 2015

From: Special Education Aide (Step 2/Level 10) To: Special Education Aide (Step 2/Level 13) LeCrichia, Debra

Ward Melville High School Effective: September 2, 2015

From: Special Education Aide (Step 2/Level 4) Parente, Jacqueline

North Shore Montessori

To: Special Education Aide (Step 2/Level 11) The Laurel Hill School Effective: September 3, 2015

Pemberton, Nancy From: Special Education Aide (Step 11/Level 12)

Murphy Junior High School
To: Special Education Aide (Step 11/Level 13)

Ward Melville High School Effective: September 2, 2015

Petitto, Susanne From: Special Education Aide (Step 8/Level 10)

Setauket Elementary School

To: Special Education Aide (Step 8/Level 12) Gelinas Junior High School

Effective: September 2, 2015

From: Special Education Aide (Step 1/Level 6) The Laurel Hill School Raffetto, Carole

To: Special Education Aide (Step 1/Level 13)

Ward Melville High School Effective: September 2, 2015

Reinhart-Fitzpatrick, Kristine From: Special Education Aide (Step 2/Level 13)

The Laurel Hill School
To: Special Education Aide (Step 2/Level 12)

Stipend

Nassakeag Elementary School Effective: September 2, 2015

#### SALARY ADJUSTMENTS

Stipends for Head Cook, Assistant Cook, Lead Food Service Workers, Lead Monitors, and Security Supervisor

<u>Name</u>	Position/Assignment	<b>Effective</b>	Amount
Wright, Amy	Head Cook/ Ward Melville HS	7/01/15	\$3,300annually
Kuffner, Susan	Assistant Cook/ Ward Melville HS	7/01/15	\$2,500 annually
Kalberer, Haydee	Lead Food Service Worker/ Murphy JHS	7/01/15	\$1,200 annually
Mertz, Robin	Lead Food Service Worker/ Nassakeag ES	7/01/15	\$1,200 annually
Rapisarda, Lisa	Lead Food Service Worker/ Setauket ES	7/01/15	\$1,200 annually
Schoulder, Barbara	Lead Food Service Worker/ Minnesauke ES	7/01/15	\$1,200 annually
Swayze, Christina	Lead Food Service Worker/ Arrowhead ES	7/01/15	\$1,200 annually
Wappaus, Judy	Lead Food Service Worker/ Mount ES	7/01/15	\$1,200 annually
Feehan, Deborah	Lead Monitor/ Nassakeag ES	7/01/15	\$2.50 hourly
Holmes, Jill	Lead Monitor/Setauket ES	7/01/15	\$2.50 hourly
Klotz, Margaret	Lead Monitor/Minnesauke ES	7/01/15	\$2.50 hourly

7/01/15 Lead Monitor/Mount ES Sharkey, Donna \$2.50 hourly

Fortunato, Joseph In-Building Security 7/01/15 \$5,000 annually

Supervisor/Districtwide

#### APPOINTMENT TO NON-INSTRUCTIONAL SUBSTITUTE POSITION

Clerical

Carrero, Nancy Salary-\$11.88/hr. Effective-8/20/15

Ms. Carrero was emergency appointed by the Superintendent of Schools. Fingerprinting clearance has been received and is on file.

Salary-\$11.88/hr. Effective-9/10/15 Guerrin, Penny

Fingerprinting clearance has been received and is on file.

Custodial

Salary-\$11.88/hr. Effective-9/10/15 Paluch, Christopher

Fingerprinting clearance has been received and is on file.

Food Service Worker

Fazal, Farzana Salary-\$11.88/hr.

Effective-9/10/15

Fingerprinting clearance has been received and is on file.

Monitors/Special Education Aides

Carpenzano, Margherita Salary-\$11.88/hr. Effective-9/1/15

Ms. Carpenzano was emergency appointed by the Cheryl Pedisich, Superintendent of Schools. Fingerprinting clearance has been received and is on file.

Salary-\$11.88/hr. Effective-9/10/15 Castellano, Alexander

Mr. Castellano is the son of Gina Castellano, a teacher at Setauket Elementary School. Fingerprinting clearance

has been received and is on file.

Guerrin, Penny Salary-\$11.88/hr.

Effective-9/10/15

Fingerprinting clearance has been received and is on file.

Voigt, John Salary-\$11.88/hr.

Effective-9/10/15

Fingerprinting clearance has been received and is on file.

#### APPOINTMENTS OF HOURLY EXTRA ASSIGNMENTS

Last	<u>First</u>	Building	Assignment	<b>Effec</b>	Rate	Hours	Not to
<u>Name</u>	<u>Name</u>			<u>-tive</u>			Exceed
Altamura	Melissa	Arrowhead	1:1 with special	9/1/15-	Reg.		4 hrs. daily
			ed student	6/30/16	hr. rate		
Alvarez	Lisa	Arrowhead	1:1 with special	9/1/15-	Reg.		4 hrs. daily
			ed student	6/30/16	hr. rate		
Becker	Carolyn	Arrowhead	1:1 with special	9/1/15-	Reg.		4 hrs. daily
			ed student	6/30/16	hr. rate		
Blatny	Ivana	Arrowhead	1:1 with special	9/1/15-	Reg.		4 hrs. daily
			ed student	6/30/16	hr. rate		
Buehler	Catherine	Arrowhead	1:1 with special	9/1/15-	Reg.		4 hrs. daily
			ed student	6/30/16	hr. rate		
Cavalieri	Joanne	Arrowhead	1:1 with special	9/1/15-	Reg.		4 hrs. daily
			ed student	6/30/16	hr. rate		
Crepeau	Tara	Arrowhead	1:1 with special	9/1/15-	Reg.		4 hrs. daily
			ed student	6/30/16	hr. rate		
Garzilli	Tara	Arrowhead	1:1 with special	9/1/15-	Reg.		4 hrs. daily
			ed student	6/30/16	hr. rate		
Gensinger	Maryann	Arrowhead	1:1 with special	9/1/15-	Reg.		4 hrs. daily
			ed student	6/30/16	hr. rate		
Helenek	Lynda	Arrowhead	1:1 with special	9/1/15-	Reg.		4 hrs. daily
			ed student	6/30/16	hr. rate		
Iaccino	Patricia	Arrowhead	1:1 with special	9/1/15-	Reg.		4 hrs. daily
			ed student	6/30/16	hr. rate		
Keane	Patti	Arrowhead	1:1 with special	9/1/15-	Reg.		4 hrs. daily
			ed student	6/30/16	hr. rate		
Larkin	Kelly	Arrowhead	1:1 with special	9/1/15-	Reg.		4 hrs. daily
			ed student	6/30/16	hr. rate		

Link	Ellen	Arrowhead	1:1 with special ed student	9/1/15- 6/30/16	Reg. hr. rate		4 hrs. daily
Litka	PattyAnn	Arrowhead	1:1 with special ed student	9/1/15- 6/30/16	Reg.		4 hrs. daily
Manetta	Florence	Arrowhead	1:1 with special	9/1/15-	hr. rate Reg.		4 hrs. daily
Matra	Maggie	Arrowhead	ed student 1:1 with special	6/30/16 9/1/15-	hr. rate Reg.		4 hrs. daily
Morgen-	Geri	Arrowhead	ed student 1:1 with special	6/30/16 9/1/15-	hr. rate Reg.		4 hrs. daily
stern Murphy	Jennifer	Arrowhead	ed student 1:1 with special	6/30/16 9/1/15-	hr. rate Reg.		4 hrs. daily
Nardella	ToniAnn	Arrowhead	ed student 1:1 with special	6/30/16 9/1/15-	hr. rate Reg.		4 hrs. daily
O'Malley	Diane	Arrowhead	ed student 1:1 w/special ed	6/30/16 9/1/15-	hr. rate Reg.		4 hrs. daily
Pepitone	Kelly	Arrowhead	student 1:1 w/special ed	6/30/16 9/1/15-	hr. rate Reg.		4 hrs. daily
Reindl	Candace	Arrowhead	student 1:1 w/special ed	6/30/16 9/1/15-	hr. rate Reg.		4 hrs. daily
Santos	Maria	Arrowhead	student 1:1 w/special ed	6/30/16 9/1/15-	hr. rate Reg.		4 hrs. daily
Small	Barbara	Arrowhead	student 1:1 w/special ed	6/30/16 9/1/15-	hr. rate Reg.		4 hrs. daily
			student	6/30/16	hr. rate		•
Yannace	Rosemary	Arrowhead	1:1 w/special ed student	9/1/15- 6/30/16	Reg. hr. rate		4 hrs. daily
Barbier	Stacey	Minnesauke	1:1 for before or after school co-curricular activities (clubs, chorus, plays, etc.)	9/15-6/16	Regular hourly rate		\$500.00
Kapps	Ron	Minnesauke	1:1 for before or after school co-curricular activities (clubs, chorus, plays, etc.)	9/15-6/16	Regular hourly rate		\$500.00
Kiessel	Maureen	Minnesauke	1:1 for before or after school co-curricular activities (clubs, chorus, plays,	9/15-6/16	Regular hourly rate		\$500.00
Maier	Sarah	Minnesauke	etc.) 1:1 for before or after school co-curricular activities (clubs, chorus, plays,	9/15-6/16	Regular hourly rate		\$500.00
Miceli	Pat	Minnesauke	etc.) 1:1 for before or after school co-curricular activities (clubs, chorus, plays, etc.)	9/15-6/16	Regular hourly rate		\$500.00
Carter	Suzanne	Minnesauke	1:1 for before or after school co-curricular activities (clubs, chorus, plays, etc.)	9/15-6/16	Regular hourly rate		\$500.00
Romeo	Stacey	Minnesauke	1:1 for before or after school co-curricular activities (clubs, chorus, plays, etc.)	9/15-6/16	Regular hourly rate		\$500.00
Phillips	Paula	Minnesauke	1:1 for before or after school co-curricular activities (clubs, chorus, plays, etc.)	9/15-6/16	Regular hourly rate		\$500.00
Smith	Cara	Minnesauke	1:1 for before or after school co-curricular activities (clubs, chorus, plays, etc.)	9/15-6/16	Regular hourly rate		\$500.00
Barbier	Stacey	Minnesauke	Field Trips	2015- 2016	Regular Hourly Rate	4	4 Hours Per Event
Carter	Suzanne	Minnesauke	Field Trips	2015- 2016	Regular Hourly Rate	4	4 Hours Per Event
Kapps	Ron	Minnesauke	Field Trips	2015- 2016	Regular Hourly Rate	4	4 Hours Per Event
Kiessel	Maureen	Minnesauke	Field Trips	2015- 2016	Regular Hourly Rate	4	4 Hours Per Event

Maier	Sarah	Minnesauke	Field Trips	2015-	Regular	4	4 Hours Per
			•	2016	Hourly Rate		Event
Miceli	Patty	Minnesauke	Field Trips	2015- 2016	Regular Hourly Rate	4	4 Hours Per Event
Smith	Cara	Minnesauke	Field Trips	2015- 2016	Regular Hourly	4	4 Hours Per Event
Phillips	Paula	Minnesauke	Field Trips	2015- 2016	Rate Regular Hourly	4	4 Hours Per Event
Romeo	Stacey	Minnesauke	Field Trips	2015- 2016	Rate Regular Hourly Rate	4	4 Hours Per Event
Blank	Joan	Gelinas	After School	2015-	reg hr.		\$500.00
Camen-	Susan	Gelinas	Supervision After School	2016 2015-	rate reg hr.		\$500.00
zuli Costigan	Fran	Gelinas	Supervision After School	2016 2015-	rate		\$500.00
			Supervision	2016	reg hr. rate		
Freund	Maria	Gelinas	After School Supervision	2015- 2016	reg hr. rate		\$500.00
Patel	Alpana	Gelinas	After School	2015-	reg hr.		\$500.00
Petitto	Susanne	Gelinas	Supervision After School	2016 2015-	rate reg hr.		\$500.00
Sells	Comronn	Gelinas	Supervision After School	2016 2015-	rate		\$500.00
Sells	Caryann	Geillias	Supervision	2013-	reg hr. rate		\$500.00
Smith	Heather	Gelinas	After School Supervision	2015- 2016	reg hr. rate		\$500.00
Streb	Denise	Gelinas	After School	2015-	reg hr.		\$500.00
Toto	Jenny	Gelinas	Supervision After School	2016 2015-	rate reg hr.		\$500.00
	•		Supervision	2016	rate		
Wood- land	Carol	Gelinas	After School Supervision	2015- 2016	reg hr. rate		\$500.00
Zager	Cherie	Gelinas	After School	2015-	reg hr.		\$500.00
			Supervision	2016	rate		
Daly	Colleen	MUR	RCM Monitors and SEA's -1:1 student supervision before and after school and co- curricular activities (extra- help, plays, concerts,	9/2/15- 6/24/16	Regular hrly rate	up to 10/ month	10 hours/month
DeStef- ano	Barbara	MUR	dances, etc) RCM Monitors and SEA's -1:1 student supervision before and after school and co- curricular activities (extra- help, plays, concerts, dances, etc)	9/2/15- 6/24/16	Regular hrly rate	up to 10/ month	10 hours/month
Ehrlich	Pam	MUR	RCM Monitors and SEA's -1:1 student supervision before and after school and co- curricular activities (extra- help, plays, concerts, dances, etc)	9/2/15- 6/24/16	Regular hrly rate	up to 10/ month	10 hours/month
Eldor	Ora	MUR	RCM Monitors and SEA's -1:1 student supervision before and after school and co- curricular activities (extra- help, plays, concerts,	9/2/15- 6/24/16	Regular hrly rate	up to 10/ month	10 hours/month
Gallagher	Loretta	MUR	dances, etc) RCM Monitors and SEA's -1:1 student supervision before and after school and co- curricular activities (extra-	9/2/15- 6/24/16	Regular hrly rate	up to 10/ month	10 hours/month

Griffin	Florence	MUR	RCM Monitors and SEA's -1:1 student supervision before and after	9/2/15- 6/24/16	Regular hrly rate	up to 10/ month	10 hours/month
			school and co- curricular activities (extra- help, plays, concerts, dances, etc)				
Kollmeier	Peggy	MUR	RCM Monitors and SEA's -1:1 student supervision before and after school and co- curricular	9/2/15- 6/24/16	Regular hrly rate	up to 10/ month	10 hours/month
Martino	Sophia	MUR	activities (extra- help, plays, concerts, dances, etc) RCM Monitors and SEA's -1:1	9/2/15- 6/24/16	Regular	up to	10 hours/month
			student supervision before and after school and co- curricular	0/24/10	hrly rate	month	nours/monu
Matta	Ida	MUR	activities (extra- help, plays, concerts, dances, etc) RCM Monitors and SEA's -1:1	9/2/15- 6/24/16	Regular hrly rate	up to 10/	10 hours/month
			student supervision before and after school and co- curricular activities (extra-			month	
Patterson	Debra	MUR	help, plays, concerts, dances, etc) RCM Monitors and SEA's -1:1 student	9/2/15- 6/24/16	Regular hrly rate	up to 10/	10 hours/month
			supervision before and after school and co- curricular activities (extra- help, plays,				
Sciacca	Barbara	MUR	concerts, dances, etc) RCM Monitors and SEA's -1:1 student supervision	9/2/15- 6/24/16	Regular hrly rate	up to 10/ month	10 hours/month
			before and after school and co- curricular activities (extra- help, plays, concerts,				
Zyller	Debbie	MUR	dances, etc) RCM Monitors and SEA's -1:1 student supervision	9/2/15- 6/24/16	Regular hrly rate	up to 10/ month	10 hours/month
			before and after school and co- curricular activities (extra- help, plays, concerts,				
Cesare- Cardlin	Phyllis	MUR	dances, etc) RCM Monitors and SEA's -1:1 student supervision before and after school and co-	9/2/15- 6/24/16	Regular hrly rate	up to 10/ month	10 hours/month
			curricular activities (extra-				

Dell'Isola	Isabel	MUR	RCM Monitors and SEA's -1:1 student supervision before and after school and co- curricular activities (extra- help, plays, concerts, dances, etc)	9/2/15- 6/24/16	Regular hrly rate	up to 10/ month	10 hours/month
Mazzei	Ida	MUR	RCM Monitors and SEA's -1:1 student supervision before and after school and co- curricular activities (extra- help, plays, concerts, dances, etc)	9/2/15- 6/24/16	Regular hrly rate	up to 10/ month	10 hours/month
Daly	Colleen	MUR	RCM Monitors and SEA's - chaperone/stude nt supervision before and after school and co- curricular activities (extra- help, plays, concerts,	9/2/15- 6/24/16	\$42.12	up to 10/ month	\$421.20
DeStef- ano	Barbara	MUR	dances, etc) RCM Monitors and SEA's - chaperone/stude nt supervision before and after school and co- curricular activities (extra- help, plays, concerts,	9/2/15- 6/24/16	\$42.12	up to 10/ month	\$421.20
Ehrlich	Pam	MUR	dances, etc) RCM Monitors and SEA's - chaperone/stude nt supervision before and after school and co- curricular activities (extra- help, plays, concerts,	9/2/15- 6/24/16	\$42.12	up to 10/ month	\$421.20
Eldor	Ora	MUR	dances, etc) RCM Monitors and SEA's - chaperone/stude nt supervision before and after school and co- curricular activities (extra- help, plays, concerts,	9/2/15- 6/24/16	\$42.12	up to 10/ month	\$421.20
Gallagher	Loretta	MUR	dances, etc) RCM Monitors and SEA's - chaperone/stude nt supervision before and after school and co- curricular activities (extra- help, plays, concerts,	9/2/15- 6/24/16	\$42.12	up to 10/ month	\$421.20
Griffin	Florence	MUR	dances, etc) RCM Monitors and SEA's - chaperone/stude nt supervision before and after school and co- curricular activities (extra-	9/2/15- 6/24/16	\$42.12	up to 10/ month	\$421.20

Kollmeier	Peggy	MUR	RCM Monitors and SEA's - chaperone/stude nt supervision before and after school and co- curricular activities (extra- help, plays, concerts, dances, etc)	9/2/15- 6/24/16	\$42.12	up to 10/ month	\$421.20
Martino	Sophia	MUR	RCM Monitors and SEA's - chaperone/stude nt supervision before and after school and co- curricular activities (extra- help, plays, concerts, dances, etc)	9/2/15- 6/24/16	\$42.12	up to 10/ month	\$421.20
Matta	Ida	MUR	RCM Monitors and SEA's - chaperone/stude nt supervision before and after school and co- curricular activities (extra- help, plays, concerts,	9/2/15- 6/24/16	\$42.12	up to 10/ month	\$421.20
Patterson	Debra	MUR	dances, etc) RCM Monitors and SEA's - chaperone/stude nt supervision before and after school and co- curricular activities (extra- help, plays, concerts, dances, etc)	9/2/15- 6/24/16	\$42.12	up to 10/ month	\$421.20
Sciacca	Barbara	MUR	RCM Monitors and SEA's - chaperone/stude nt supervision before and after school and co- curricular activities (extra- help, plays, concerts, dances, etc)	9/2/15- 6/24/16	\$42.12	up to 10/ month	\$421.20
Zyller	Debbie	MUR	RCM Monitors and SEA's - chaperone/stude nt supervision before and after school and co- curricular activities (extra- help, plays, concerts, dances, etc)	9/2/15- 6/24/16	\$42.12	up to 10/ month	\$421.20
Cesare- Cardlin	Phyllis	MUR	RCM Monitors and SEA's - chaperone/stude nt supervision before and after school and co- curricular activities (extra- help, plays, concerts, dances, etc)	9/2/15- 6/24/16	\$42.12	up to 10/ month	\$421.20
Dell'Isola	Isabel	MUR	RCM Monitors and SEA's - chaperone/stude nt supervision before and after school and co- curricular activities (extra-	9/2/15- 6/24/16	\$42.12	up to 10/ month	\$421.20

Mazzei	Ida	MUR	RCM Monitors and SEA's - chaperone/stude nt supervision before and after school and co- curricular activities (extra- help, plays, concerts, dances, etc)	9/2/15- 6/24/16	\$42.12	up to 10/ 9mont h	\$421.20
Cesare- Cardlin	Phyllis	MUR	Student Supervision/Ch aperone for the "Walk- Through" 9:30am- 12:30pm	8/25/2015	\$42.12	up to 3	\$126.36
Black- burn	Lauren	WMHS	Escort Spec. Ed. Students 1.1 to co-curricular activities/clubs	2015- 2016	Reg Hourly Rate	10	\$225.00
Choon- awala	Sakina	WMHS	Escort Spec. Ed. Students 1.1 to co-curricular activities/clubs	2015- 2016	Reg Hourly Rate	10	\$225.00
Ceroni	Jenna	WMHS	Escort Spec. Ed. Students 1.1 to co-curricular activities/clubs	2015- 2016	Reg Hourly Rate	10	\$225.00
David	Lyndsey	WMHS	Escort Spec. Ed. Students 1.1 to co-curricular activities/clubs	2015- 2016	Reg Hourly Rate	10	\$225.00
Gioffre	Joanne	WMHS	Escort Spec. Ed. Students 1.1 to co-curricular activities/clubs	2015- 2016	Reg Hourly Rate	10	225.00
Heimerle	Denise	WMHS	Escort Spec. Ed. Students 1.1 to co-curricular activities/clubs	2015- 2016	Reg Hourly Rate	10	225.00
Inzone	Tara	WMHS	Escort Spec. Ed. Students 1.1 to co-curricular activities/clubs	2015- 2016	Reg Hourly Rate	10	\$225.00
Lecrichia	Deborah	WMHS	Escort Spec. Ed. Students 1.1 to co-curricular activities/clubs	2015- 2016	Reg Hourly Rate	10	\$225.00
Menten	Sue	WMHS	Escort Spec. Ed. Students 1.1 to co-curricular activities/clubs	2015- 2016	Reg Hourly Rate	10	\$225.00
Pember- ton	Nancy	WMHS	Escort Spec. Ed. Students 1.1 to co-curricular activities/clubs	2015- 2016	Reg Hourly Rate	10	\$225.00
Pryor	Ronni	WMHS	Escort Spec. Ed. Students 1.1 to co-curricular activities/clubs	2015- 2016	Reg Hourly Rate	10.00	\$225.00
Raffetto	Carole	WMHS	Escort Spec. Ed. Students 1.1 to co-curricular activities/clubs	2015- 2016	Reg Hourly Rate	10.00	\$225.00

# APPOINTMENTS OF SUMMER RECREATION STAFF

<u>Last</u> Name	<u>First</u> Name	Building	<u>Position</u>	Effec- tive	Rate	Assignment	
Bell	Robert	WM	Security Guard	7/6/2015	\$17.94	Half/Full	District Employee
Keefe	Cornelius	WM	Security Guard	7/6/2015	\$17.94	Half/Full	District Employee
Keough	Terry	WM	Security Guard	7/6/2015	\$17.94	Half/Full	District Employee
Meoni	John	WM	Security Guard	7/6/2015	\$17.94	Half/Full	District Employee
Natale	Louis	WM	Security Guard	7/6/2015	\$17.94	Half/Full	District Employee

Paglia	Paul	WM	Security	7/6/2015	\$17.94	Half/Full	District
			Guard				Employee
Perez	Tito	WM	Security	7/6/2015	\$17.94	Half/Full	District
			Guard				Employee
Stewart	Wanda	WM	Security	7/6/2015	\$17.94	Half/Full	District
			Guard				Employee

These recommendations have been emergency approved by Cheryl Pedisich, Superintendent of Schools.

#### SUMMER ESY PROGRAM APPOINTMENTS

<u>Last Name</u> Substitutes	First Name	Building	<u>Effective</u>	<u>Title</u>	Rate
Barra	Susan	Mount	8/17/15- 8/18/15	Nurse	\$20.00/hr
Haufe	Kristin	Mount	7/6/15- 8/18/15	SEA	\$11.88/hr
Patterson	Debbie		7/6/15- 8/18/15	Bus Monitor sub	\$15.00 per hour
Stursburg	Cathy		7/6/15- 8/18/15	Bus Monitor sub	\$15.00 per hour

These recommendations were emergency approved by Cheryl Pedisich, Superintendent of Schools.

# CLERICAL SUPPORT FOR VARIOUS FUNCTIONS

Last Name	<u>First</u> Name	Building	Assignment	<u>Effective</u>	Rate	<u>Hours</u>	Not to Exceed
Bartunek	Alberta	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	3	3 hours
Garcia	Anita	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	3	3 hours
Garnier	Debby	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	3	3 hours
Hammer	Veronica	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	3	3 hours
Matzelle	Denise	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	3	3 hours
Miller	Linda	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	3	3 hours
Nowling	Carol	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	3	3 hours
Rosa	Lorraine	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	4	4 hours
Benedetto	Nicole	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	4	4 hours
Alternates:							
Gonsalves	Theresa	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	3	3 hours
Koch	Susan	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	3	3 hours
Melfi	Linda	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	3	3 hours
Pedroli	Gina	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	3	3 hours
Slack	Holly	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	3	3 hours
Ward	Denise	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	3	3 hours
Whalen	Joanne	WMHS	Swim Registration	9/10/15	Regular Hourly Rate	3	3 hours

#### AMENDMENTS/REVISIONS

# Clerical

Archer, Erica Status: 10.5 month Clerk Typist

Amendment/Revision: Effective date of change of

status

Date of BOE Approval: June 17, 2015

Ms. Archer was BOE approved for a change of status from 12 month Clerk Typist to 10.5 month Clerk Typist effective August 25, 2015. That effective date is being revised to July 7, 2015.

#### Custodial

Borny, Richard Status: Custodial Worker I

Amendment/Revision: Effective date of retirement

Date of BOE Approval: July 7, 2015

Mr. Borny's retirement was BOE approved effective 8/31/15. Per the NYS Employees' Retirement System, Mr. Borny's last day worked cannot be after 8/27/15. As a result, the effective date of his retirement is being revised to 8/28/15.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Special Education Meetings of: January 13, 15, 26, February 11, 13, March 16, 31, May 6, 11, 12, 13, 14, 15, 18, 19, 21, 22, 26, 27, 28, 29, June 1, 2, 3, 4, 5, 9, 10, 11, 12, 15, 16, 17, 18, 19, 22, 23, 24, 25, 26, 29, 30, July 8, 10, 13, 15, 16, 20, 22, 27, 28, 29, 30, August 3, 5, 7, 11, 12, 17, 19, 24, and 26,

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Special Education.

On motion by Mr. Kornreich, seconded by Mrs. Gische, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

Recommendations of Committee on Preschool Special Education Meetings of: Meetings of May 27, June 23, 30, July 7, 13, 21, 28, 31, August 7, 12, 17, and 20, 2015

2015

Upon recommendation of the Superintendent of Schools be it RESOLVED that the Board of Education, through the administration, arrange for the provision of the appropriate special education programs and services for students enumerated in the report of the Committee on Preschool Special Education.

On motion by Mrs. Gische, seconded by Ms. Germano, and carried by a 7-0-0 vote, the Board approved the resolution as presented.

OTHER ITEMS OF INTEREST The Board discussed rankings published by news media and the criteria used for those rankings. Ms. Bavlnka and Mr. Kornreich reported on upcoming events.

PUBLIC PARTICIPATION

There was no Public Participation at this time.

**ADJOURNMENT** 

There being no further business to be conducted, motion was made by Mrs. Gische, seconded by Dr. Kerman, and carried by a 7-0-0 vote to adjourn the meeting at 8:15 p.m.

Respectfully submitted,

Kathleen Sampogna District Clerk